UGC NET 2021 Mass Communication N Journalism

Topic:- 63MassComJourn_A

1) A transmitter encodes messages into

(1) Artifacts (2) Noise

(3) Models (4) Signals

uftrst (grafger) wevll @l Frefafaa 4 geag & @
(1)  errhfaat (2) 9"
(3)  uferEw (4) Hebdh

[Question ID = 2939][Question Description = Q01_MassComJourn_SHAAN_20NOV21_S1_Shift2]
1. 1 [Option ID = 11219]
2. 2 [Option ID = 11220]
3. 3 [Option ID = 11221]
4. 4 [Option ID = 11222]

2) The media sufficiency standards were first formulated by
(1) UNDP  (2) UNICEF
(3) UNESCO (4) UNHRC
Hifem gatad g 1 deud foed Haifd femn e
(1) 4w < 9 (UNDP) (2) 4f#H% (UNICEF)
(3)  F4%hl (UNESCO) (4 3 v Uvg HyEH (UNHRC)

[Question ID = 2940][Question Description = Q02_MassComJourn_SHAAN_20NOV21_S1_Shift2]
1. 1 [Option ID = 11223]
2. 2 [Option ID = 11224]
3. 3 [Option ID = 11225]
4. 4 [Option ID = 11226]

3) The curricular model for mass media education by Sirkka Minkkienen was based on research in
(1) Sociology and Psychology (2) Political Science and Economics

(3) History and Philosophy (4) Public Administration and Geography

ot fiha o1 F9-g=m wegy fren & fau grgasarens ufeeg fa foawi O sy @@ snenfa e
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[Question ID = 2941][Question Description = Q03_MassComJourn_SHAAN_20NOV21_S1_Shift2]
1. 1 [Option ID = 11227]
2. 2 [Option ID = 11228]
3. 3 [Option ID = 11229]
4. 4 [Option ID = 11230]

4) The concept of mean world syndrome is seen in

(1) Spiral of silence (2) Cultivation analysis

(3) Helical theory (4) Transactional analysis



“3eay S HoEm' 61 sgEmon fead o S 2
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[Question ID = 2942][Question Description = Q04_MassComJourn_SHAAN_20NOV21_S1_Shift2]

1. 1 [Option ID = 11231]
2. 2 [Option ID = 11232]
3. 3 [Option ID = 11233]
4. 4 [Option ID = 11234]

5) Paulo Friere described the top-down modernisation project as
(1) Existentialism (2) Assistentialism

(3) Universalism (4) Institutionalism
9Td Wi 4 AGRTH sngfrm afErs w5 fee = 1 aF femne

(1) feqeaare (uftse farafersn) (2) HeEmEdrEr (vfaefirafersa)
(3)  wrEYarg (gHesfas) (4) degare (SfeegyAfasa)

[Question ID = 2943][Question Description = Q05_MassComJourn_SHAAN_20NOV21_S1_Shift2]

1. 1 [Option ID = 11235]
2. 2 [Option ID = 11236]
3. 3 [Option ID = 11237]
4. 4 [Option ID = 11238]

6) In developmental communication, ‘being diagnostic’ will lead to
(1) Diversity of identities (2) Suppression of identities

(3) Explosion of identities (4) Fusion of identities
fasrrgardl dem 4 et 247 4 2
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[Question ID = 2944][Question Description = Q06_MassComJourn_SHAAN_20NOV21_S1_Shift2]

1. 1 [Option ID = 11239]
2. 2 [Option ID = 11240]
3. 3 [Option ID = 11241]
4. 4 [Option ID = 11242]

7) When a third variable, remaining unseen causes an association of two variables, it is called :

(1) Absentee variable (2) Extraneous variable

(3) Spurious variable (4) Third order variable
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[Question ID = 2945][Question Description = Q07_MassComJourn_SHAAN_20NOV21_S1_Shift2]

1. 1 [Option ID = 11243]
2. 2 [Option ID = 11244]
3. 3 [Option ID = 11245]
4. 4 [Option ID = 11246]



8) Neo-Darwinian beliefs of social evolution were the basis of western theory of:

(1) Modernisation (2) Ethnic superiority

(3) De-politicisation (4) Dominance of religion
gt wafaF & Fa-eifdgard fasam fea ufsad fagE & smem 92
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[Question ID = 2946][Question Description = Q08_MassComJourn_SHAAN_20NOV21_S1_Shift2]

1. 1 [Option ID = 11247]
2. 2 [Option ID = 11248]
3. 3 [Option ID = 11249]
4. 4 [Option ID = 11250]

9) General Attributions to the sources like ‘Government official’ in news stories are referred to as:
(1) Off the record (2) Deep background
(3) Background (4) On the record

THER faa 8 wrEd dtasil S 59 o |iat w G 59 o # Fad w
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3 =m (4)

[Question ID = 2947][Question Description = Q09_MassComJourn_SHAAN_20NOV21_S1_Shift2]

1. 1 [Option ID = 11251]
2. 2 [Option ID = 11252]
3. 3 [Option ID = 11253]
4. 4 [Option ID = 11254]

10) Which among the following methods/models is used to make decisions related to ethical dilemmas in media?

(1) Fog index (2) Flesch method

(3) Freytag Pyramid (4) Potter box
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[Question ID = 2948][Question Description = Q10_MassComJourn_SHAAN_20NOV21_S1_Shift2]

1. 1 [Option ID = 11255]
2. 2 [Option ID = 11256]
3. 3 [Option ID = 11257]
4. 4 [Option ID = 11258]

11) Which among the following Journalists is associated with the developmental news portal PARI (People’s Archive of Rural

India)?
(1) Kalpana Sharma (2) Gail Omvedt

(3) Ravish Kumar (4) P. Sainath

fferfiga 0 3 sR—m v o gumEn aiéa ol (figen smsiza #1iE e sfem) | gafua 27

(1) g ol (2) T AT e
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[Question ID = 2949][Question Description = Q11_MassComJourn_SHAAN_20NOV21_S1_Shift2]
1. 1 [Option ID = 11259]
2. 2 [Option ID = 11260]
3. 3 [Option ID = 11261]
4. 4 [Option ID = 11262]

12) is a paragraph that explains the point of the story when the lead is purposely vague.
(1) Circle Kicker (2) Nut graph

(3) Teaser Lead (4) Mystery lead

98 I=ese B S HATIH il T 9| Sdidl & 9 hAnfE (eflg) S TH-ge 3T Tl

AT 2
(1)  =hel fehept (2) 2 UH
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[Question ID = 2950][Question Description = Q12_MassComJourn_SHAAN_20NOV21_S1_Shift2]
1. 1 [Option ID = 11263]
2. 2 [Option ID = 11264]
3. 3 [Option ID = 11265]
4. 4 [Option ID = 11266]

13) The theory of cognitive dissonance as related to advertising is based on the premise that:
(1) People see what they expect to see (2) People see what they are offered to see
(3) People see what they are made to see (4) People see what they don’t get to see

foasmem & wafua dsereas fagarfen #1 fagma 38 faar w snarfa 2 f6 -
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[Question ID = 2951][Question Description = Q13_MassComJourn_SHAAN_20NOV21_S1_Shift2]
1. 1 [Option ID = 11267]
2. 2 [Option ID = 11268]
3. 3 [Option ID = 11269]
4. 4 [Option ID = 11270]

14) In outdoor advertising the term OTS (Opportunity To See) and OTR (Opportunity To Read) are referred to as:
(1) Wall painting (2) Posters
(3) Hoardings (4) Balloons
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(1) To==E (2) 9=
(3 == 4 T

[Question ID = 2952][Question Description = Q14_MassComJourn_SHAAN_20NOV21_S1_Shift2]
1. 1 [Option ID = 11271]
2. 2 [Option ID = 11272]
3. 3 [Option ID = 11273]
4. 4 [Option ID = 11274]

15) The single sheet advertisement printed on one side is known as:
(1) Brochures (2) Leaflets

(3) Posters (4) Flyers
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[Question ID = 2953][Question Description = Q15_MassComJourn_SHAAN_20NOV21_S1_Shift2]
1. 1 [Option ID = 11275]
2. 2 [Option ID = 11276]

3. 3 [Option ID = 11277]
4. 4 [Option ID = 11278]

16) A sceptical buyer is the one who
(1) makes impulsive purchase (2) has negative image about the seller

(3) carefully weighs the cost, pros and cons of the product being offered (4) is keen to return the product

HIEETE] widl 98 8 7 :
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[Question ID = 2954][Question Description = Q16_MassComJourn_SHAAN_20NOV21_S1_Shift2]
1. 1 [Option ID = 11279]
2. 2 [Option ID = 11280]

3. 3 [Option ID = 11281]
4. 4 [Option ID = 11282]

17) A commonly used and immensly valuable technique for analysing the external environment of an organization is
(1) SWOT Analysis (2) PEST Analysis

(3) MOST Analysis (4) PESTLE Analysis

ferefi #man & ama i) =1 favemm @ % foe arra. wim ) oW arell aza @ Iwrh a2

(1) SWOT fagemm (2) PEST fegermm
(3) MOST fageimm (4) PESTLE fageimm

[Question ID = 2955][Question Description = Q17_MassComJourn_SHAAN_20NOV21_S1_Shift2]
1. 1 [Option ID = 11283]
2. 2 [Option ID = 11284]
3. 3 [Option ID = 11285]
4. 4 [Option ID = 11286]

18) Who wrote the book about PR titled ‘Crystallizing public opinion’?
(1) Edward Bernays (2) Ivy Ledbetter Lee

(3) J.P. Morgan (4) George Creel
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[Question ID = 2956][Question Description = Q18_MassComJourn_SHAAN_20NOV21_S1_Shift2]
1. 1 [Option ID = 11287]
2. 2 [Option ID = 11288]
3. 3 [Option ID = 11289]
4. 4 [Option ID = 11290]



19) The main objective of PR Audit is to assess
(1) The strengths and weakness of PR in an organization. (2) The negative image of an organization.

(3) The relationship between an organization and its key publics. (4) The internal relationship of employees in an
organization.

1 G gedta 1 gy S fed fwifa e 20
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[Question ID = 2957][Question Description = Q19_MassComJourn_SHAAN_20NOV21_S1_Shift2]
1. 1 [Option ID = 11291]
2. 2 [Option ID = 11292]
3. 3 [Option ID = 11293]
4. 4 [Option ID = 11294]

20) When the media reflect stories on issues relevant to the company under PR coverage, it is often referred to as
(1) Third - party endorsement (2) First - party endorsement

(3) Second - party endorsement (4) Fourth - party endorsement

4 T HUh Hald & FAa Hitedl fEH FE A Haid gl oo W AER W YEE Sedl 7, q
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[Question ID = 2958][Question Description = Q20_MassComJourn_SHAAN_20NOV21_S1_Shift2]
1. 1 [Option ID = 11295]
2. 2 [Option ID = 11296]
3. 3 [Option ID = 11297]
4. 4 [Option ID = 11298]

21) The Sixteenth amendment to the Indian Constitution added a restriction on Article 19 in the form of
(1) Judicial review (2) Censorship of media contents

(3) Limiting entry of media persons into public buildings (4) Sovereignty and integrity of India
YT HfadF & Hietsd H9NYA 4 dfaum & si9=ee 19 4 fefafaa ufdey saenfia e
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[Question ID = 2959][Question Description = Q21_MassComJourn_SHAAN_20NOV21_S1_Shift2]
1. 1 [Option ID = 11299]
2. 2 [Option ID = 11300]
3. 3 [Option ID = 11301]
4. 4 [Option ID = 11302]

22) In Virendra Vs. State of Punjab, Section (3)(1) of the Punjab Special Powers (Press) Act, 1956, was struck down on the



grounds of
(1) Procedural unreasonableness (2) Public interest

(3) Over - regulation (4) Political ill - will

= gam goe T 91 O, Jare fasm wifeaai (vm) stfafam, 1956 Fowm (3)(1) w1 Faafafam
smym g fres fean
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[Question ID = 2960][Question Description = Q22_MassComJourn_SHAAN_20NOV21_S1_Shift2]
1. 1

[Option ID = 11303]
2.2

[Option ID = 11304]
3.3

[Option ID = 11305]
4. 4

[Option ID = 11306]
23) Section 292 of the Indian Penal Code prescribes punishment for
(1) Copyright infringement (2) Obscence publication

(3) Contempt of Court (4) Prejudicing national integration through media

Wit eve Higar 6 am 292 4 Fefafas & fau evg @ ey 2
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[Question ID = 2961][Question Description = Q23_MassComJourn_SHAAN_20NOV21_S1_Shift2]
1.1

[Option ID = 11307]
2.2

[Option ID = 11308]
3.3

[Option ID = 11309]
4. 4
[Option ID = 11310]
24) Copyright is considered as

(1) Public property (2) Industrial property

(3) Non-substantial property (4) Non-intellectual property

yfaferenoesr =T 2
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[Question ID = 2962][Question Description = Q24_MassComJourn_SHAAN_20NOV21_S1_Shift2]



1.1

[Option ID = 11311]
2.2

[Option ID = 11312]
3.3

[Option ID = 11313]
4. 4

[Option ID = 11314]
25) In media management, the term ‘Performance’ means

(1) Economic performance only (2) Social responsibility only

(3) Both economic and social (4) Administrative flow only

tifem way 4 “wEtREa’ Uy § AU 2
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[Question ID = 2963][Question Description = Q25_MassComJourn_SHAAN_20NOV21_S1_Shift2]
1. 1 [Option ID = 11315]
2. 2 [Option ID = 11316]
3. 3 [Option ID = 11317]
4. 4 [Option ID = 11318]

26) Lower level media management is also known as
(1) Staff management (2) Branch management

(3) Motivational management (4) Operative level management

= =g fife way # frn o @ o 2
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[Question ID = 2964][Question Description = Q26_MassComJourn_SHAAN_20NOV21_S1_Shift2]
1.1

[Option ID = 11319]
2.2

[Option ID = 11320]
3.3

[Option ID = 11321]
4. 4
[Option ID = 11322]
27) The main aim of professional sub-culture in media management is to

(1) Unite individuals (2) Create divided groups

(3) Influence workers to be isolated (4) Produce dissimilarities in work culture

Hifem way § sarawTfas I9-HvEfd %1 0e 3699 2
(1)  =afsedi &l ueh 43 4 "ien (2) fawifaa wyzi @ fmm
(3)  HdbEl &l Y2 2H & foru yuifed e (4)  FrEi-wEmld O fawgane serE s

[Question ID = 2965][Question Description = Q27_MassComJourn_SHAAN_20NOV21_S1_Shift2]
1.1

[Option ID = 11323]



2.2

[Option ID = 11324]
3.3

[Option ID = 11325]
4. 4

[Option ID = 11326]
28) Adobe Indesign is used in
(1) Radio documentaries (2) Television drama production

(3) Blogs on Internet (4) Newspaper

ugiE g-feaga Fiferd o vy & @
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[Question ID = 2966][Question Description = Q28_MassComJourn_SHAAN_20NOV21_S1_Shift2]
1.1

[Option ID = 11327]
2.2

[Option ID = 11328]
3.3

[Option ID = 11329]
4. 4

[Option ID = 11330]

29) Which among the following communicologists usefully distinguished between the paradigms of interaction, which was
called the ‘extractive’ and the ‘immersive’?

(1) Alan Turing (2) Peter Lunenfield

(3) Rosanne Allucquere (4) P. Hayward

freafafaa 4 @ fom wanfag 3 s feaens 9 woafagl 0 faie feo oo f5 T i
“Fm=ar i dw e
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[Question ID = 2967][Question Description = Q29_MassComJourn_SHAAN_20NOV21_S1_Shift2]
1.1

[Option ID = 11331]
2.2

[Option ID = 11332]
3.3

[Option ID = 11333]
4. 4
[Option ID = 11334]

30) Photorealism in CGI and the hyperrealist imagery and narrative structures of Disney, Pixar and Dream works animated
features are all examples of what Jean - Louis Comdli calls

(1) reality effects (2) distancing effect

(3) anti - reality (4) indexicality
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[Question ID = 2968][Question Description = Q30_MassComJourn_SHAAN_20NOV21_S1_Shift2]
1. 1 [Option ID = 11335]
2. 2 [Option ID = 11336]
3. 3 [Option ID = 11337]
4. 4 [Option ID = 11338]

31) Cloud computing is a system delivering different types of services over
(1) The internet (2) The Non - commercial space

(3) Identified networks of telephone (4) Public corporation’s non-cyber platforms

Ferae e Fefafaad | feas fiim fafus gwr 6 dan gereeft i sored 27
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[Question ID = 2969][Question Description = Q31_MassComJourn_SHAAN_20NOV21_S1_Shift2]
1.1

[Option ID = 11339]
2.2

[Option ID = 11340]
3.3

[Option ID = 11341]
4. 4

[Option ID = 11342]

32) Which one of the following leads in the percentage of population on social media, as per FICCI report 2020?
(1) People’s Republic of China (2) The United States

(3) The United Kingdom (4) India

Rl (FICCD) it ad 2020 1 friid & sigam frafafaa O 4 fea Qo < smard & wifas i@
T Wifsm & e 2?
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[Question ID = 2970][Question Description = Q32_MassComJourn_SHAAN_20NOV21_S1_Shift2]
1.1

[Option ID = 11343]
2.2

[Option ID = 11344]
3.3

[Option ID = 11345]
4. 4



[Option ID = 11346]
33) The Technique where brief fragments of shots are cut to exact rhythm against a musical beat or sound is
(1) cold cuts (2) flash cutting

(3) jump cutting (4) pop cutting

Terell wfion ofie o1 wafd Tierd faer & fou iz &1 9 -9 ksl °§ &1ed 61 deis 27
(1)  hics HeH (2) g i
(3) =P Hf (4) g =i

[Question ID = 2971][Question Description = Q33_MassComJourn_SHAAN_20NOV21_S1_Shift2]
1. 1

[Option ID = 11347]
2.2

[Option ID = 11348]
3.3

[Option ID = 11349]
4. 4

[Option ID = 11350]
34) Who authored the seminal work “The Photoplay” A Psychological study (1916)?
(1) Vachel Lindsay (2) Siegfried Kracauer

(3) Hugo Munsterberg (4) Rudolf Arnheim

frefefan 4 | ®F dieers $fa ¢ e’ 51 qaEEEifsd 22, (1916) & @ a7
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[Question ID = 2972][Question Description = Q34_MassComJourn_SHAAN_20NOV21_S1_Shift2]
1. 1 [Option ID = 11351]
2. 2 [Option ID = 11352]

3. 3 [Option ID = 11353]
4. 4 [Option ID = 11354]

35) Which among the following film critics developed connection between mise - en - scene and realism on the one hand,
and montage and expressionism on the other?

(1) Andrei Bazin (2) Julia Kristeva

(3) Christian Metz (4) Susan Sontag

frefefiga 4 & fra fben srei=e A F@ vh SR fas-wa-fam o gafl s sufyafam (diams) s
sifisaiarare & gen ga dfaarfed faa
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(3)  forfemm wew (4)  HHH H=
[Question ID = 2973][Question Description = Q35_MassComJourn_SHAAN_20NOV21_S1_Shift2]

1.1

[Option ID = 11355]
2.2



[Option ID = 11356]
3.3

[Option ID = 11357]
4. 4

[Option ID = 11358]
36) The camera technique of directing the viewer to shift attention from one subject to another is called
(1) Manuel focus (2) Follow focus
(3) Deep focus (4) Rack focus

ue, Afad # gEl sHfad dl 3R g &1 FHEfm e 6l Fun awie & F wE A 27
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[Question ID = 2974][Question Description = Q36_MassComJourn_SHAAN_20NOV21_S1_Shift2]
1. 1 [Option ID = 11359]
2. 2 [Option ID = 11360]
3. 3 [Option ID = 11361]
4. 4 [Option ID = 11362]

37) Applied research aims at

(1) Constructing a theory
(2) Finding out a variable
3) Solving a specific problem

(4) Testing a null hypothesis mathematically
SRS FY H1 91 3G9 2 ¢
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[Question ID = 2975][Question Description = Q37_MassComJourn_SHAAN_20NOV21_S1_Shift2]
1.1

[Option ID = 11363]
2.2

[Option ID = 11364]
3.3

[Option ID = 11365]
4. 4

[Option ID = 11366]

38) Longer period of exposure to an experimental stimulus minimises
(1) The simulatory effect (2) The sleeper effect

3) The replicatory effect (4) The selectivity effect
el wrifire 3des & Hifiy s o9 @9 189 % weeasy efafaa O 8 e ed e 2
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[Question ID = 2976][Question Description = Q38_MassComJourn_SHAAN_20NOV21_S1_Shift2]
1.1

[Option ID = 11367]
2.2

[Option ID = 11368]
3.3

[Option ID = 11369]



4. 4
[Option ID = 11370]

39) The area in which the null hypothesis is not accepted is known as

1) The region of exclusion
(2) The region of seclusion
3) The region of isolation
(4) The region of rejection

o 2 4 v wfteed 1 w=ien T2 T s 2, 36 it O @ formeht s €0 ol 27
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[Question ID = 2977][Question Description = Q39_MassComJourn_SHAAN_20NOV21_S1_Shift2]
1.1

[Option ID = 11371]
2.2

[Option ID = 11372]
3.3

[Option ID = 11373]
4. 4

[Option ID = 11374]

40) Summative evaluation deals with
(1) Ability assessment (2) Process evaluation
3) Implementation (4) Impact
THTFSATCHF AT AeiEd | 8 o HJaiaa 7 7
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[Question ID = 2978][Question Description = Q40_MassComJourn_SHAAN_20NOV21_S1_Shift2]
1.1

[Option ID = 11375]
2.2

[Option ID = 11376]
3.3

[Option ID = 11377]
4. 4

[Option ID = 11378]

41) The Buddhist approach to communication emphasises:
(A) Aggressiveness

(B) Competitiveness

(C) Co-operation

(D) Non-violence

(E) Mindfulness

Choose the correct answer from the options given below :
(1 (A), (B), (C) only

(2) (B), (C), (D) only



(3) (©), (D), (E) only
(4) (A), (D), (E) only

HAW o W dig gfemm fefaken w 5 @ 2 .

(A)  TRMEHA

(B)  wlcwnaieuerad
(C) =M
(D) it
(B)  &eaa

Hr=1 feu v fasedi 4 | @&l I @1 = Fifa

(1)  %ae (A). (B). (O)
(2) %9 (B) (C). (D)
(3) %4 (O), (D). (B)
4  Fa (A). (D). (B)

[Question ID = 2979][Question Description = Q41_MassComJourn_SHAAN_20NOV21_S1_Shift2]
1.1

[Option ID = 11379]
2.2

[Option ID = 11380]
3.3

[Option ID = 11381]
4. 4

[Option ID = 11382]

42) The social responsibility theory of mass communication includes:

(A) Balanced opinion

(B) Imposing self - regulation
©) Strict government control
(D) Reflection of public opinion
(E) Suppression of dissent

Choose the correct answer from the options given below :
(1) (A), (B), (C) only
(2) (B), (C), (D) only
(3) (€), (D), (E) only
(4) (A), (B), (D) only

AR o A seiae fagrd o wftifed 2
(@) Hafer s

B)  a-fafmm & s

(C)  Har i fgam

(D)  SH9a H1 Sfafaea

(E) i & g

Fr= feu v faaedl § | |dl 3 &1 =994 Fifu .



(1) & (A), (B). (O)
(2) %4 (B), (C). (D)
(3)  %ad (C), (D). (E)

(4 &= (A). (B). (D)
[Question ID = 2980][Question Description = Q42_MassComJourn_SHAAN_20NOV21_S1_Shift2]

1.1

[Option ID = 11383]
2.2

[Option ID = 11384]
3.3

[Option ID = 11385]
4. 4

[Option ID = 11386]

43) The major recommendations of the first press commission were
(A) Abolition of State Trading Corporation
(B) Establishment of a Press Council
(©) Enactment of law for working Journalists
(D) Setting up of a body for newspaper registration
(E) Restricting the government advertisements to electronic media
Choose the correct answer from the options given below :
M (A), (B), (C) only
(2) (B), (C), (D) only
(3) (€), (D), (E) only
(4) (A), (C), (E) only
u UH TEE o ypg el o

(A) T SR T s geETe

(B)  Ug urityg i T

(€  zwsifa whrl & foro fafy @1 srfufram

(D)  AYMEE 93 & s & forn fem ) wem

(E) =l fasmadi & geiaeite difemn s Hifua v

A few mu faaedi 4 & w8 3w @1 o Fifaw
(1)  %ad (A). B). (O)
(2 %ad (B). (C). D)
(3)  Fad (C), (D). (B)
4 F&d (A), (C). (B)
[Question ID = 2981][Question Description = Q43_MassComJourn_SHAAN_20NOV21_S1_Shift2]

1.1

[Option ID = 11387]
2.2

[Option ID = 11388]
3.3

[Option ID = 11389]
4. 4



[Option ID = 11390]

44) According to Western Scholars of developmental communication, traditional societies are marked by
(A) Family focus

(B) Rural setting

©) Customs and mores

(D) Participation

(E) Individuality

Choose the correct answer from the options given below :
M (A), (B), (C) only

(2) (B), (C), (D) only

3) (©), (D), (E) only

(4) (A), (D), (E) only

(A)  ufEar o saEEz

(B) o e
© ffa-fam=
(D)  Wrfer

(E)  safaafreaa

4= feu mu fawedi 4 | g8 39 &1 =5ag Fifau .

(1)  &ad (A), (B). ()
(2) %9 (B). (C), (D)
(3 %= (C). (D). (B)
@) %= (A), (D). (B)

[Question ID = 2982][Question Description = Q44_MassComJourn_SHAAN_20NOV21_S1_Shift2]
1.1

[Option ID = 11391]
2.2

[Option ID = 11392]
3.3

[Option ID = 11393]
4. 4

[Option ID = 11394]

45) Which of the following criticisms were accepted by the advocates of dominant paradigm?
(A) Individuals as the locus of change

(B) Social regularity

(©) Ignoring culural specificity

(D) Rejection of empiricism

(E) Over - emphasis on the role of media

Choose the correct answer from the options given below :

M (A), (B), (C) only

(2) (B), (C), (D) only

(3) (€), (D), (E) only



(4) (A), (C), (E) only

T FAEE] (WIEEE) F 5HAH g HEeig § d BHE-H S S T 7
(&) ufEed & foEeg % =9 F saEa & e

(B) = FEtgaa

(C)  TEFaH (afr=al = =W 7 <

(D) FAGFAE F TR

(E)  Hiftean =i gigwr @@ smavaswar o wfas o

= fou U faweT § | HE 39 1 =999 HiE

(1)  =a= (A), (B). (C)
(2) a4 (B). (C). (D)
(3)  a= (C). (D). (E)

(4) == (A). (C). (E)

[Question ID = 2983][Question Description = Q45_MassComJourn_SHAAN_20NOV21_S1_Shift2]
1.1

[Option ID = 11395]
2.2

[Option ID = 11396]
3.3

[Option ID = 11397]
4. 4
[Option ID = 11398]
46) The major guidelines for the coverage of crime news are
(A) Checking the source
(B) Cultivation of news source
(C) Exaggeration of fatalities
(D) Taking law and order agencies into confidence
(E) Conducting parallel investigation to police enquiry
Choose the correct answer from the options given below :
(1) (A), (B), (D) only (2) (B), (C), (D) only

(3) (C), (D), (E) only (4) (A), (C), (E) only

AT WU & JHEYE & fom gy fan-fd 2
(A)  H[ F A"

(B)  HHTHR I €4 d90 0

(C) "yl i HAfqwrifad

(D)  HHA 9 SFIE & Al ® favar 4 o

(E) Ifea-smHeH & quie smo HE



AT Tl T T9ehed] B H Hal 3t sl =T sl
1) %4 (A). B). (D)
(2) =9 (B), (C). (D)
(3)  &ad (C). (D). (B)
@) FEe (A). (O). (E)

[Question ID = 2984][Question Description = Q46_MassComJourn_SHAAN_20NOV21_S1_Shift2]
1. 1 [Option ID = 11399]
2. 2 [Option ID = 11400]
3. 3 [Option ID = 11401]
4. 4 [Option ID = 11402]

47) What are the new trends in the designing of newspapers?
(A) Application of traditional divisions

(B) Use of different software exclusively for designing

(C) More and more colourful pictures

(D) Adoption of total design concept

(E) Preference to bold type for text composition

Choose the correct answer from the options given below :

(1) (A), (B), (C) only (2) (B), (C), (D) only

(3) (), (D), (E) only (4) (A), (C), (E) only

HTER Al <l Festrsfr 4 48 et @ 27

(A)  TEYER T9E 6 9

B)  feastim & foro fadm e & awm m fafim w5 v
(C)  feraprferss in-fad fom

(D) &yl festrga sraumon % 3w

(E) w&E-4ra4 & fou 912 zeg & wrafaean

el feu e frepedl 4 4 wdl I 1 = i
(1) %= (A), (B). (O)
(2) %4 (B). (). (D)
(3) %4 (C), (D). (B)

(4)  %Ee (A), (O). (B)

[Question ID = 2985][Question Description = Q47_MassComJourn_SHAAN_20NOV21_S1_Shift2]
1.1

[Option ID = 11403]
2.2

[Option ID = 11404]
3.3

[Option ID = 11405]
4. 4

[Option ID = 11406]



48) Which of the following are essential characteristics of a slogan?
(A) It should be brief
(B) It should be built on multiple ideas
(C) Use rhythm and rhyme
(D) It should explain the product
(E) Easy to remember
Choose the most appropriate answer from the options given below :
(1) (A), (C), (B) only (2) (E), (D), (B) only
(3) (C), (D), (B) only (4) (A), (C), (E) only
fraferfiad o 4 SH-— 9/ (erm) $1 Afar faeeand 8
(A) 8 Hfed g =g
B) 34 =EA faani w =1 2 =)
(C) &g 31 g% &1 94F &
(D) 34 3978 i = F =)

(E) ¢ &1 3EHE 2

19 fou mu foreredi O 4 we 39 3T o1 924 Hifo
(1) %= (A), (O). (B)
(2) %9 (E). (D). (B)
(3)  %del (O). (D). (B)

4)  FEd (A), (O). (B)

[Question ID = 2986][Question Description = Q48_MassComJourn_SHAAN_20NOV21_S1_Shift2]
1. 1 [Option ID = 11407]
2. 2 [Option ID = 11408]
3. 3 [Option ID = 11409]
4. 4 [Option ID = 11410]

49) Which are the basic functions of advertising in society?
(A) Marketing function

(B) Education function

(C) Cultural function

(D) Political function

(E) Social function

Choose the correct answer from the options given below :
(1) (A), (B), (C) only (2) (B), (C), (D) only

(3) (A), (B), (E) only (4) (D), (E), (C) only

Hura 4 s % gt @ @ d



(A faom s

B o wd

(C)  Hifis Fr
(D)  Totfas &
(E)  amifres s

2 feu e foemedi 9 & gl e = Hifs
(1) %9 (A), (B). (O)
(2)  ad (B), (C). (D)
(3) 4 (A), (B). (B)
@  Faa (D). (B). (O

[Question ID = 2987][Question Description = Q49_MassComJourn_SHAAN_20NOV21_S1_Shift2]
1 [Option ID = 11411]
2 [Option ID = 11412]
3 [Option ID = 11413]
4 [Option ID = 11414]

A W N =

50) Which of the following are advantages for corporate public relations practitioners?
(A) Individualistic presence

(B) Unavailable for other departments

(C) Team membership

(D) Knowledge of the organisation

(E) Economical to the organisation

Choose the correct answer from the options given below :

(1) (A), (B), (C) only (2) (B), (C), (D) only

(3) (C), (D), (E) only (4) (A), (B), (E) only
Hige T H9eh Hil & foru f=fafaa 4 4 sh-8 aea fedanr 87
(a)  oafadard safefy
B)  gEt famwii % fer srquerey
(©)  dm il weEa
(D) A % fawa § 714
(E)  Hed & foru fudssd
i fau o faspedi # & ad I % = Fif
(1) &9 (A), (B). (O)
(2) %9 (B), (). (D)
(3 %= (O). (D). (B)

(4)  %ad (A), (B). (E)



[Question ID = 2988][Question Description = Q50_MassComJourn_SHAAN_20NOV21_S1_Shift2]
1. 1

[Option ID = 11415]
2.2

[Option ID = 11416]
3.3

[Option ID = 11417]
4. 4
[Option ID = 11418]
51) The success of public relations in any organisation depends upon
(A) Top - down communication system
(B) Commitment by management
(C) Centralised policy system
(D) Two - way communication system with different publics
(E) Keeping distance from manager
Choose the correct answer from the options given below :
(1) (A), (B), (C) only (2) (B), (C), (D) only
(3) (©), (D), (E) only (4) (A), (B), (E) only
fopel woraA 1 4w I wwera ffafaa w e e 2
A) T HER A
(B)  vEHA & gfdarga
(C)  hdigd Hifd a3
(D)  fafu= fafere SegeEt & @y fgaefl @=m @

(B)  vasehi d ¢l aqrat v

At fau o forshedi 6 & wél 3 1w b
(1)  %aa (A), (B). (O)
(2) %9 (B), (C), (D)
3 =4 (O). (D). (B)

(4)  &ad (A). (B). (B)

[Question ID = 2989][Question Description = Q51_MassComJourn_SHAAN_20NOV21_S1_Shift2]
1. 1 [Option ID = 11419]
2. 2 [Option ID = 11420]
3. 3 [Option ID = 11421]
4. 4 [Option ID = 11422]

52) The key elements in a successful annual report are
(A) Corporate profile

(B) Financial highlights

(C) Value deducted statement

(D) Corporate goals



(E) Political climate analysis
Choose the correct answer from the options given below :
(1) (A), (B), (C) only (2) (B), (C), (D) only
(3) (A), (B), (D) only (4) (C), (D), (E) only
foreh e anfien wfades o weergl @ #A-8 &7
(&) = @
B) ey T fasmand
(C)  gea Trmfa &ea
(D) & % @
(EB)  Troifas ufrde fagemm

= feu o fawedi § O 9 39 @ 994 Hifo .

(1)  %ad (A), (B). (O)
(2)  %dad (B), (C). (D)
(3)  &ad (A). (B). (D)

(4) &4 (C). (D). (E)

[Question ID = 2990][Question Description = Q52_MassComJourn_SHAAN_20NOV21_S1_Shift2]
1. 1 [Option ID = 11423]
2. 2 [Option ID = 11424]
3. 3 [Option ID = 11425]
4. 4 [Option ID = 11426]

53) Which of the following are considered privileged documents by courts in India?
(A) News copy prepared by media.
(B) Annual reports of private limited companies.
(C) State secrets.
(D) Correspondence between government and its officers regarding state security.
(E) Sources of information collected and listed by government employees.
Choose the correct answer from the options given below :
(1) (A), (B), (C) only (2) (B), (C), (D) only
(3) (©), (D), (E) only (4) (A), (D), (E) only
WA H el g fefefiga 8 3 wR-9 favmiusa gees oH S 27
(&)  Hifsm g dar i 78 FEER S
B)  wurzde fafgee Hufwi % arfies yfdde
(C) =4 &l I &
(D) R 3N 5 Al & 6= w59 1 gen 9 wafyn s
(E) =i Su=1al gr1 Hebferd vd geiag g1 94



= feu v faweqi § 4 9d 30 @1 =999 Fifso .

(1) %t (A), (B). (O)
(2) %4 (B). (). (D)
(3)  Fad (©). (D). (E)
(4) %4 (A). (D). (B)

[Question ID = 2991][Question Description = Q53_MassComJourn_SHAAN_20NOV21_S1_Shift2]
1. 1 [Option ID = 11427]
2. 2 [Option ID = 11428]
3. 3 [Option ID = 11429]
4. 4 [Option ID = 11430]

54) Who directed the film ‘Sadgati’ based on the short story by Munshi Premchand?
(1) Shyam Benegal (2) Satyajit Ray

(3) Mani Kaul (4) Govind Nihalani

usfl Sere 61 oy FEE o st fEen gefa feem feea e

(1) v S (2 werdia
(3 o e (@) ifde e
[Question ID = 2992][Question Description = Q54_MassComJourn_SHAAN_20NOV21_S1_Shift2]
1. 1 [Option ID = 11431]
2. 2 [Option ID = 11432]
3. 3 [Option ID = 11433]
4. 4 [Option ID = 11434]
55) Which of the following lead to the contempt of parliament?
(A) Abuse not related to the duties of the member of parliament.
(B) Personal attack of a member.
©) Publication that affects the dignity of parliament.
(D) Publication reflecting upon the character and proceedings of parliament.
(E) Publication imputing contempt or ridicule of the house.
Choose the correct answer from the options given below :
M (A), (B), (C) only
(2) (B), (C), (D) only
(3) (€), (D), (E) only
(4) (A), (D), (E) only
(4) (A), (D), (E) only
fAferfiaa 4 | foray wae &1 stEdeA1 &l 27
(A)  HHe "o & Fdedl 8 syafua g
B) T gem o1 Jafds wen
(C)  dug =l i 9 yaTE Sred el T
(D)  HHg & =i 9 HEaE] 9 HEY H 97l TH9H
(E)  Hed & 3EqHEHE 01 gl YaheH

i feu o fasen 4 A wEl I 1 w5 Hif
(1) %= (A). (B). (O)
(2) %49 (B), (O). (D)
(3)  @ad (C), (D). (B)
(4)  %ad (A), (D). (E)



[Question ID = 2993][Question Description = Q55_MassComJourn_SHAAN_20NOV21_S1_Shift2]
1. 1

[Option ID = 11435]
2.2

[Option ID = 11436]
3.3

[Option ID = 11437]
4. 4

[Option ID = 11438]
56) Which among the following factors differentiate media industries from most manufacturing concerns as per Lavine and
Wackman (1988)?
(A) Perishable commodity
(B) Work specialization
©) Lower visibility
(D) Types of employees
(E) Type of organization structure
Choose the correct answer from the options given below :
4] (A), (D), (E) only
(2) (A), (B), (E) only
(3) (©), (D), (E) only
(4) (B), (C), (E) only
Hifem o s sifusa i gwensn 8 ag #9 & foe oarga 3 dem (1988) 3 f=fafiaa 4 =
feba @epl <6l TaeE 617
(A) I EIR] ELS|
B)  wr fafirfiamm
(C) = goaa
(D)  FHHFIE & g

(E)  H734 "= %1 UHH

il few e forebedi & | @l I A = Hif
(1) 4 (A), D). (B)
(2 w6 A, B). (B)
(3) %= (O). (D). (B)

(49  F=4 (B), (O), (E)

[Question ID = 2994][Question Description = Q56_MassComJourn_SHAAN_20NOV21_S1_Shift2]
1.1

[Option ID = 11439]
2.2

[Option ID = 11440]
3.3

[Option ID = 11441]
4. 4

[Option ID = 11442]

57) Tom Wolfe identified which of the following devices New Journalists borrowed from literary fiction?

(A) First person point of view



(B) Avoiding behavioural aspects

(€) Telling the story using scenes

(D) Dialogues

(E) Third - person account

Choose the correct answer from the options given below :
(M (A), (B), (E) only

(2) (B), (D), (E) only

3) (A), (C), (B) only

(4) (A), (C), (D) only

2 9o A fefafad 4 8 fea gfdd 6 vgam 6 o aaifa v 4 sumfes 3 fom
(A)  veH-gEy e

(B)  HEENTeH® TECIHI H FoI

(C) 7ol &1 YEF1 o HHTER S

(D) @AW

(E)  31=-7%9 faar

A4 feu mu famedi 4 8 wdl 3R @1 == Hifa
(1)  %ae (A), (B). (B)
(2) %4 (B). (D). (E)
(3)  %aE (A). (C). (B)
4 FaE (A), (C). (D)

[Question ID = 2995][Question Description = Q57_MassComJourn_SHAAN_20NOV21_S1_Shift2]
1.1

[Option ID = 11443]
2.2

[Option ID = 11444]
3.3

[Option ID = 11445]
4. 4

[Option ID = 11446]

58) The main uses of Internet are
(A) Ignoring files

(B) Removing virus

(C) Interactive gaming

(D) Downloading files

(E) Increased personal health
Choose the correct answer from the options given below :
(1) (A) and (B) only

(2) (A), (B) and (C) only

3) (C) and (D) only

(4) (C), (D) and (E) only

SeE o T T R

(A)  FTEEN R AT AT

Fa = 1Y —_—T= 7T T



A0 B AR R
(C)  ZZ-vfF2g sqFes T
(D)  FIsEl I SIS AT

(E)  =atga =0 =

4= fou U fFFweT 4 O wE 39 9Ee S

(1) =&« (A) #F (B)
(2)  Fa= (A). (B) 51 ()
(3)  has (C) 3T (D)

(4)  =ad (C). (D) 3 (E)

[Question ID = 2996][Question Description = Q58_MassComJourn_SHAAN_20NOV21_S1_Shift2]
1.1

[Option ID = 11447]
2.2

[Option ID = 11448]
3.3

[Option ID = 11449]
4. 4

[Option ID = 11450]
59) “Eye track” studies of Poynter Institute and Stanford University, reveal which of the following online reader
characteristics?
(A) People will read a story online thoruoughly if they are interested
(B) Blurbs are the most important method to attract readers.
©) Alternate story form such as timelines, fact boxes help readers.
(D) Readers give preference to the images more than the text.
(E) Presence of fact boxes intimidates reading
Choose the most appropriate answer from the options given below :
(1) (A), (B), (D) only
(2) (B), (C), (E) only
(3) (C), (D), (E) only
(4) (A), (B), (C) only
Tger HEAE SN AR favafaarer & Cweds” wergEl 0 WA Ted &) Aefafad 3 3 sR-H
(&) @, fRHE FEER F A T W2 | ved afe 3HH w5 ERf)
(B) Sl <1 I TSH1 i ATHMT FH HI HeH Haea i F{IH 2
(C)  HTel- A 311 =g -=ai S dofoqs Far=n faar 4 Jrasi &1 wzrEd ferd 21
(D) 9@k SR SRl e SUA i wAthEa <d A

(E) ag-sai i suferfa 9 9ga 9 w3 2@ 21

4re feu o faeedi O 8 wE I %1 =99 ifw -

()  %4ad (A). (B). (D)

(2)  %ad (B), (C). (B)
(3) @4 (C). (D). (E)

A = FAY (BN ™
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[Question ID = 2997][Question Description = Q59_MassComJourn_SHAAN_20NOV21_S1_Shift2]
1.1

[Option ID = 11451]
2.2

[Option ID = 11452]
3.3

[Option ID = 11453]
4. 4

[Option ID = 11454]

60) Which among the following films were part of the French New Wave movement?
(A) Breathless

(B) Jules and Jim

(%) Grand Illusion

(D) Quo Vadis

(E) Hiroshima, mon amour

Choose the correct answer from the options given below :
(M (A), (B), (D) only

(2) (A), (B), (E) only

3) (B), (C), (E) only

(4) (B), (C), (D) only

faetettiga 5 & - foed %= 73 o= Ao = fEe of ?
(A) wuEEm

B ruisfm

(C) s zog=d
(D) =i af=m

(E) fexifem, o/ o

Hi= f3u U faehedi 9 ® @E I W =E i

(1) F=9 (A), B), (D)
(2)  Fa4 (A). (B). ()
(3)  =ad (B). (O). (B)

(4) == (B), (O). (D)
[Question ID = 2998][Question Description = Q60_MassComJourn_SHAAN_20NOV21_S1_Shift2]
1.1

[Option ID = 11455]
2.2

[Option ID = 11456]
3.3

[Option ID = 11457]
4. 4

[Option ID = 11458]

61) Which among the following are the best understood phases on ‘Bollywoodization’, according to Rajyadhyaksha?

(A) Cultural and economic patronage of NRI diasporic communities.
(B) Influence of Hollywood cinematic techniques on Indian Cinema.



©) Marketing of Bollywood abroad.
(D) Transformation of the domestic film industry shaped by the ambilion of people abroad.
(E) Endorsement of the anteur theory of the European Films.

Choose the most appropriate answer from the options given below :
(1M (A), (B), (D) only
(2) (B), (C), (E) only
3) (A), (C), (D) only
(4) (€), (D), (E) only

TsesE & s feafafiad § 8 w-0 aidgde’ & aed gEa 59 o ) 87
(A)  srfarE g & vard wgerEl 1 Aestas s snfie wem

(B)  wndra form W giefigs o qeial & v

(C)  fagsi 1 ateftge #1 fagm

(D) fagefi <fvil 61 smemian § @fi e gaim &1 wviam

(B)  rim foresi o sl fagia & ae

Fr feu o foeedi § | HaH ITgF IT H FE HIfA
(1)  %ad (A). (B). (D)

(2)  @ad (B), (O). (B)
(3)  &dd (A). (O). (D)

(4) %99 (C), (D). (B)

[Question ID = 2999][Question Description = Q61_MassComJourn_SHAAN_20NOV21_S1_Shift2]
1. 1

[Option ID = 11459]
2.2

[Option ID = 11460]
3.3

[Option ID = 11461]
4. 4

[Option ID = 11462]

62) Which of the following are the functions of research hypotheses?
(A) Should produce negative correlation

(B) Should generate intervening variables

©) Should provide direction for the study undertaken
(D) Should eliminate the trial and error method

(E) Must permit quantification of variables

Choose the correct answer from the options given below :
(1 (A), (B), (C) only

(2) (B), (C), (D) only

(3) (C), (D), (E) only

4) (A), (D), (E) only

Freafefiga 4 | ®H-8 sy afwerst & &4 27
(A) NS GEEEY 300 HE J1E)
(B)  wegadi = Ieg= F =GifEn)

(C) 3y fpu mu sveeE & foan weM & =iz
T =g =t Bl a0 afeverrm = =



i et B0, e Ay - e e TR e

(BE) = & qimfiem 61 smergs siafd ¢ =rfau)

49 feu o faedi O 9 9d I F 9w fifau

(1)  *=e (A). (B). (C)
(2) %9 (B). (O). (D)
(3)  *ad (C). (D). (E)
(4)  “ae (A), (D). (B)

[Question ID = 3000][Question Description = Q62_MassComJourn_SHAAN_20NOV21_S1_Shift2]
1.1

[Option ID = 11463]
2.2

[Option ID = 11464]
3.3

[Option ID = 11465]
4. 4

[Option ID = 11466]

63) Which of the following are the sources of artifacts?
(A) Literal replication

(B) History

(C) Instrumentation

(D) Random sampling

(E) Experimental mortality

Choose the correct answer from the options given below :
(M (A), (B), (C) only

(2) (B), (C), (D) only

3) (©), (D), (E) only

(4) (B), (C), (E) only

frfafiga 4 & ®H-H FHensia & @[ 87

A  urfege gugfy
B)  sfrEE

(C)y  HgHH

(D) dEfss gfaas
(E) =it Jwawa

4= feu v faeegl O | |58 39 &1 =999 Fif .

(1) %= (A), (B). (O)
(2)  &aa (B), (C). (D)
(3)  F=d (O), (D). (B)
(4) %4 (B). (C). (B)

[Question ID = 3001][Question Description = Q63_MassComJourn_SHAAN_20NOV21_S1_Shift2]
1.1



[Option ID = 11467]
2.2

[Option ID = 11468]
3.3

[Option ID = 11469]
4. 4

[Option ID = 11470]

64) Which of the following are the steps in content analysis?
(A) Formulation of research question

(B) Defining the identified population

©) Selecting an appropriate sample

(D) Excluding the quantitative methods

(E) Avoid defining the categories for data analysis
Choose the correct answer from the options given below :
M (A), (B), (C) only

(2) (B), (C), (D) only

3) (©), (D), (E) only

(4) (A), (B), (E) only

freaferfiga @ 8 #R-4 faagay favemm % = 27

(A)  INY W H1 GAH

(B)  wEdErdi w8 e & qidrfid e

(C)  3ug# ufdgyl 1 #24 HA1

(D)  ufmmmeys fafira = 9w w@n

(E)  =re favemu & fo sifeai &1 afrarfva = 9 a9

A=l feu u fespedi 4 8 w8 I 1 = Fife
(1) % (A), (B). (O)
(2) %4 (B). (C). (D)
(3) %A (O), (D). (B)
(4 Fad (A), (B), (B)

[Question ID = 3002][Question Description = Q64_MassComJourn_SHAAN_20NOV21_S1_Shift2]
1.1

[Option ID = 11471]
2.2

[Option ID = 11472]
3.3

[Option ID = 11473]
4. 4

[Option ID = 11474]

65) Which of the following factors determine the relevance of the topic for communication research?
(A) Vastness of the topic

(B) Significance of the problem

(€) Need to generalise the findings

(D) Reputation of the supervisor

(E) Easiners of the subject

Choose the correct answer from the options given below :



(1 (A), (B), (C) only
(2) (B), (C), (D) only
(3) (©), (D), (E) only
(4) (A), (D), (E) only

frefefiga 4 8 ®R-4 FrE Far My & fou fava f svgaa fFaifa sa 22
(a) favg =+ faan

(B)  HHE &1 HE™

(C) 9 SAFEH| &1 vurfigd & 6l sEavIEal

(D) v &1 ufds

(BE) fowgem &6 gremn

4= fev o fawedi O 8 B I F1 =95 Hifw

1) % (A, B). (C)
(2)  %ad (B). (). (D)
(3) @ (C), (D). (B)
4 FEd (A), D). B)
[Question ID = 3003][Question Description = Q65_MassComJourn_SHAAN_20NOV21_S1_Shift2]

1.1

[Option ID = 11475]
2.2

[Option ID = 11476]
3.3

[Option ID = 11477]
4. 4

[Option ID = 11478]

66) Match List | with List Il :

List | (Author) List Il (Concept)
(A) Denis mcquail and Gureviteh (I)  Political socialisation
(B) William Stephenson (Il)  Meaning theory
(C) Donald and Virginia Fry (Ill) Play and entertainment
(D) Patterson and mcclure (IV) Structural functionalism

Choose the correct answer from the options given below :
(1 A)-an, (B) - a4, (€) - av), d - 1)

(A)- (), (B) - (Iv), (€) -, (D) -
U))

3)  (A)-(V), (B) - (), (€) - @, (D) - (D
A)-m, (B -m, (€ - @), (@ -

(2)

) (i
Hel 1 |1y =l 11 &1 fierm =it .
o=l 1 (elEF) gl T (A=)
(A) =fm Hae e e (O urfedia gifsrrergsee
B) fafemm Hkga (1D if =
(C) EHree uvg afiffn wrg (IID) & UUg geaee

(D) Heda g faean (IV) EFTel HeHfas



= feu o fawedi ° 9 98 39 &1 999 Fifso

1 @-a. ® -dbh. ©-av. O - d
2 @-dp ®-av. ©-O O -d
3 @A@-a). B - dTdDh. (C) - da. @M - @D
@ @W-0O @®-Jad. (© - av. (D) - dm

[Question ID = 3004][Question Description = Q66_MassComJourn_SHAAN_20NOV21_S1_Shift2]

1.1

[Option ID = 11479]
2.2

[Option ID = 11480]
3.3

[Option ID = 11481]
4. 4

[Option ID = 11482]

67) Match List | with List Il :
List | (Book)

List Il (Author(s))

(A) The People’s choice ) Herbert Schiller
(B) Empire of communication ()  H.D. Lasswell
(C) The Mind Manager () H.A. Innis

fD) W?rld Politics and personal (V) Paul Lazarsfeld
insecurity

Choose the correct answer from the options given below :

1) (A) - (D, (B) - (n, () - (1, (D) -
(v)
) (A)-(v), (B) - (), (€) - (), (D) -
(1
(A)-(y, (B) - (), € - (v), (D) -
@) @
4 A)-m, @ - @av), (€ -ay, @ - O
el I % w1y gl 10 o1 fuerm hifa .
HqH1 I (J%7) o II ()
(a) z figen =i (I #Ed fepe
(B) NI 3% HfHehyH (I) v= € el
(C) & HrEe d4a (IID) wa.u, 2hm
(D) dwe qiferfeay wreg ydaer safueifA (IV) diel Aobee
A fou mu fasbedi 4 4 wE I F1 =92R Hifau .
(1) A-OM @ - d), (© - Jdn, @ — dv)
(2) A -av). B — dn. (©) - @M. (@O — 1D
(3) A—-dn. @B -@O. © —av). D) - dIh
(4) (A -dD. B) - av). (€©) —adn, @) — @

[Question ID = 3005][Question Description = Q67_MassComJourn_SHAAN_20NOV21_S1_Shift2]

1. 1



[Option ID = 11483]
2.2

[Option ID = 11484]
3.3

[Option ID = 11485]
4. 4

[Option ID = 11486]

68) Match List | with List Il :

List | (Diffusion Research Tradition) List Il (Innovation Studies)

(A) Anthropological ()  Technological innovations
(B) Early sociology () Technological ideas
(C) Marketing () Ham Radio
(D) Communication (IV) New products
Choose the correct answer from the options given below :
1) (A) - (), (B) - Iy, () - (m, (D) -
()
(2)  @A)-an, (B) - dam, (€) - @v), d) - @O
(A)- (1, (B) - (v), (©) - (), (D) -
(3)
(m
(4) :ﬁ«l))- avy, (B) - ), (€) - @, (d) -

T I = = I e Fi

T I (Fmon o wim) T I1 ([0 S 15)
@) @ e T
(B) AE-THTS AT () wtereEhE =
(C) o= (II[) =% fs=
(D) ==R IV) T 3eTE
I 20 7o faeT § | HE 3w 99 A
1 @-0 G -dad, (© - dm, O - av
& G- G6—dl; © -0, O)-=@0
(3) @-dn, B -a) © -0 O -—d)
4 B V). 8 —() ©) 0. @O -\

[Question ID = 3006][Question Description = Q68_MassComJourn_SHAAN_20NOV21_S1_Shift2]
1. 1

[Option ID = 11487]
2.2

[Option ID = 11488]
3.3

[Option ID = 11489]
4. 4

[Option ID = 11490]

69) Match List | with List Il :

List | List Il

(A) New Journalism (1960’s) 0]

Bastian Obermayer



(B) Colloborative Journalism (Il) Upton Sinclair
(C) Yellow Journalism (lll) Tom Wolfe
(D) Muckracking (IV) W.R. Hearst

Choose the correct answer from the options given below :

(A) - (), (B) - V), (©) - (m, (D)

(1) (i
2) :ﬁ))-(“l), (B) - (), (€) - (v), (D) -
3) :ﬁ«))-(lV), (B) - (I, (€) - am, (D) -
(4) :ﬁl))- an, (@B) - @), € - avy, (D) -
el 1% | = 11 &1 fuem <ifae
g1 1 g1 11
(A) F-THTH (1960 F Z91%) (@) dfema s
(B) hiemEnfeg sHfersy ) ¥ faaers
(C) Feedl SHferoH (IIT) <" die
(D) u (IV) oo 3R B

I feu o faweqi § 9 9d1 3 =1 999 Hifau .

1 A-0O G -adv. © - Jddn, O - d)
2 @-adn ®-@0O. ©-av. O - a1y
@ @WW-av. ®-0. (© - dn, @ — dn
4 @-dada. @ -d. (© - av), D — d
[Question ID = 3007][Question Description = Q69_MassComJourn_SHAAN_20NOV21_S1_Shift2]

1.1

[Option ID = 11491]
2.2

[Option ID = 11492]
3.3

[Option ID = 11493]
4. 4

[Option ID = 11494]

70) Match List | with List 1l :

List | (Pragency) List Il (Headquarters)
(A) Edelman ) Paris
(B) MSL group () London
(C) Brunswick () New York
(D) Ogilvy (IV) Chicago

Choose the correct answer from the options given below :

(A)-(v), (®) - O, <€ - m, (@ -

) (I
) :n))-(“l), B) - (IV), (€) - (), (D) -

3 (A)-aD, (B) - (W, (€) - @av), (D) - (D



(A) - (), (B) - Iy, () - (m, (D) -
(4) (V)
Hefi 1% @19 g+t 11 %1 faerm hifor
gl I (F9H9e ud)

(A) ufeerdq

(B) wHUuATEdId

(C) dftas

(D) sfret

e few o foeredi O @ @A 3w F1 wa Fifa

(1
(2
(3)
4

(&) — (IV).

(&) — (D).

(&) — (D).
(&) - (D.

®B) — @.

(B) — av).
(B) — (1D,
(B) — (D.

(C) — D,
<€ - @

© — v,
(C) — (1D,

g+l 1 (grearer)
@ e
an e
() =T
@) forni
(D) — (1D
(D) — (1)
@) - @
(D) — @)

[Question ID = 3008][Question Description = Q70_MassComJourn_SHAAN_20NOV21_S1_Shift2]
1.1

[Option ID = 11495]
2.2

[Option ID = 11496]
3.3

[Option ID = 11497]
4. 4

[Option ID = 11498]

71) Match List | with List Il :

List | (Country) List Il (Information Legislation)

(A) Canada ) Right to Information Act, 2014
(B) Australia (II) Access to Information Act, 1983
. (Ill) Freedom of Information Act,
(C) India 1982
(D) Bhutan (IV) Right to Information Act, 2005
Choose the correct answer from the options given below :
(1 A)-an, (@B - am, (€ - av), @d - @)
(A)- (1, (B) - (v), (C) - (), (D) -
(2) (Il
3) (A)- V), (B) - (), €) - a, (D) -
@y
(4) (A) - (), (B) - Iy, (€) - (am, (D) -
()
gl I w1y =i 11 %1 fyer <hifs .
0 I (491) i IT (= § weifera faum)
(A) TSl (M g & sAfasr sifufem, 2014
(B) FAmferdn (I &= wifed srfefaem, 1983
(C) wmd (IID) g=1 &1 Faaaal sifefeEm, 1982

[ R o W ¥

R o Ay

o LI e i e



L8 55 B (510 V) gHE-l Bl s AiEim=ss, LUUD

dr feu o fasmedi 4 | wdl 3w %1 =57 Fifo

1 @-I. @ -Jdan. ©-av. M -@

2 @-dan @-aw. ©-0O O -d
3 @-av. ® -@d@. (©) - ad, (D) - {dI
4@ @W-@O. @ —-d. (€ - dn, @) - av

[Question ID = 3009][Question Description = Q71_MassComJourn_SHAAN_20NOV21_S1_Shift2]
1.1

[Option ID = 11499]
2.2

[Option ID = 11500]
3.3

[Option ID = 11501]
4. 4

[Option ID = 11502]

72) Match List | with List Il :

List | (Media outlet) List Il (Ownership pattern)
(A) The Hindu () Cross - media ownership
(B) The Times of India ()  Trust
(C) CNN-TV 18 (i) Family ownership
(D) The Tribune (IV) Corporate ownership (external)

Choose the correct answer from the options given below :

(A)-@,  (B) - (), (€) - V), (D) -
(U))

2)  (A)-aD, (®) - [, (€) - @), (D) - (D
(A)-@m, (B) - @M, (€ - (av), (D) -

(M

@) ()]
@ @ ®-m ©-0 o

ol T % sy g 11 o fuem i .

H I (difzan fefm) gt 11 (Fanfivea ufeew)
&) afeg (D =i e
(B) @ s 3% gFe I =
(C) v wa-Fei 18 (III) afran =1 iy
D) & fesga (IV) mife st (area)

Hrd feu o faeredi 0 | |A 3w %1 959 hifaw

®» @W-@O @G -dn © -av. @O - db
@ @W-dad). ) - dn. © - av. O - D
@ @-dp B-@0O. (©-av. @O — dh
4 @A-dan dB-av. ©-@O @O -



[Question ID = 3010][Question Description = Q72_MassComJourn_SHAAN_20NOV21_S1_Shift2]
1.1

[Option ID = 11503]
2.2

[Option ID = 11504]
3.3

[Option ID = 11505]
4. 4

[Option ID = 11506]

73) Match List | with List Il :

List | (Animation Studio) List Il (Content created)
(A) Maya Entertainment () Chhota Bheem
(B) Toonz Animation () Karma Chakra
(C) Green Gold Animation (lll) Mondo Yan
(D) Studio Durga (IV) Aryan

Choose the correct answer from the options given below :

(A)- (), ®) - am, (€ -m@m, (@ -
(v)

(A)- (), (B) - (), (€) - (D, (D) -
(v)

(A)-(v), (B) - (), (€) - (O, (D) -
(I

(A)- V), (B) - (), (€) - (D, (D) -
(1N

(1
(2)
3)
(4)

el I =19 9= 11 %1 fger it .

i T (e wfea I 1T (gform siddeg)
(A) TN U O B W
B) g ufHe (D) e
(C) UM Tiee ufarsH IR E R
D) wfe g V) s

Ira few o faweqi 0 © 9d 3 = 999 Hifso -

1 @W-O @B -d)h. (€ -Jad), @O - dv)
(2 @-Jadn. @ -dad. © -@O. @O - adv
3 @-awv, ® -d. © -O. @O —Jdm
@ @A-av. B - dn © -@O. @O —ap

[Question ID = 3011][Question Description = Q73_MassComJourn_SHAAN_20NOV21_S1_Shift2]
1.1

[Option ID = 11507]
2.2

[Option ID = 11508]
3.3

[Option ID = 11509]
4. 4

[Option ID = 11510]

74) Match List | with List Il :
List | List Il



(A) Soviet Montage ) Rome, open city

(B) Neo realism (II) Cleo from five to seven
(C) French New Wave () A. Taste of Honey
(D) British New Cinema (IV) Strike

Choose the correct answer from the options given below :

(A)-@,  (B) - (I, (€) - (), (D) -
vy

(2)  (A)-am, (B) - (IvV), (€) -, (D) -

(A)-(v), (B) - (), € -, (@ -
(I

(A)-(v), (B) - (), (€) - (), (D) -
(I

(M

(3)
(4)

Hl 1% |19 =0 I &1 faam it

i 1 Tl 11
(A)  Hifaad gidrs @ m, smE
(B) T fafass (I) g win wigg g Haq
(C) %= =94 (D) ¥ %= 3% &
D) fafew = fadm (IV) =15%

= feu o faweqi 4 9 9di 39 @1 =99 Sifso .

1 @A@-O® (@ - dJdn. () - d, (D) - dv)
2 @G-dan ®B-avV. ©-da. O -0

3 @-av. B -0. (© -adn. (@O - dm
@ @Ww-aw. ® -d. © -@. (@O - dm

[Question ID = 3012][Question Description = Q74_MassComJourn_SHAAN_20NOV21_S1_Shift2]
1.1

[Option ID = 11511]
2.2

[Option ID = 11512]
3.3

[Option ID = 11513]
4. 4

[Option ID = 11514]

75) Match List | with List Il :
List | (Factors of research) List Il (Description)

) Something is true because it is from a trusted

A) Tenacit
A) 4 source.

(B) Intuition (Il)  Truth is found out by repeated objective

analysis.
(C) Authority (lll) Something is true because it is self - evidence.
(D) Science (IV) Something is true because it has been true.

Choose the correct answer from the options given below :
(1) A)-an, (B) - a4, (€) - @v), d - @)

(A)-@v), (B) - (I, (€) -, (D) -

(2) (I



3)

(4)

(A) - (), (B) - (D, € - @, (d -
(v)
(A)-(y, (B) - (Iv), (€) - (D, (D) -
(I

(1) (A) - (I, (B) - (I, (C) - (IV), (D) - () (2) (A) - (IV), (B) - (IlN), (C) - (1), (D) - (1))

(3) (A) - (1), (B) - (1), (C) - (1), (D) - (IV) (4) (A)- (1), (B) - (IV), (C) - (), (D) - (1)

ol I < w19 9= 11 &1 faem Sifo .

(A)
(B)
(©)

(D)

g1 T (3119 -%1H)
EChIE!

JiBea

ferstr

el 11 (ferereon)
M 0 == " 2 it g7 fava 9 | Teyd 230 2
(D Al Jewg faveimm & ey qey Jgarfed i 2|
(IID) =*iE <3 g 2 #ifsh a8 w=a: ymrfores 2|
(V) iE < @ 2 il 7= 6o @ 2

4= feu o fawedi § 9 9d1 39w @1 999 Sifso .

(1
(2

(3)
@

(&) (D). (B) - dI).
(&) —(@v). (B — dID).
@ -dn, @ - @,

A)—dan, (B) - av).

© -av. M - @

© -@OM. (@O -a
€ - an. @D - av
© - @O (D - am

[Question ID = 3013][Question Description = Q75_MassComJourn_SHAAN_20NOV21_S1_Shift2]

1.1

[Option ID = 11515]
2.2

[Option ID = 11516]
3.3

[Option ID = 11517]
4. 4

[Option ID = 11518]

76) Find out the correct chronological sequence of the following:

(A)
(B)
©
(D)
(E)

Tracts
Newsbooks
Corantos
Diurnals

Newspaper

Choose the correct answer from the options given below :

(1) (A), (C), (D), (B), (E)

(2) (B), (C), (D), (E), (A)

(3) (C), (D), (E), (A), (B)

(4) (D), (E), (A), (B), (C)

frafefiaa =1 98 Fesrg o sgafeE Fifo .
A

B) HH

= =

(C) M=l



D)  EEHE

(E) =R

A feu e faspeni § 8 gE I %1 = Hif
1 (A. (©). D). ®B).(E)

2  (B). (C). (D). (E), (&)

(3  (O). D), (E). (A). (B)

@ (D). (E). @A). B).(©)

[Question ID = 3014][Question Description = Q76_MassComJourn_SHAAN_20NOV21_S1_Shift2]
1.1

[Option ID = 11519]
2.2

[Option ID = 11520]
3.3

[Option ID = 11521]
4. 4

[Option ID = 11522]

77) ldentity the correct sequence of following social reformer - journalists in India, in terms of their publications:
(A) Mahatma Gandhi

(B) Bala Gangadhara Tilak

(C) Raja Ram Mohan Roy

(D) Ram Manohar Lohia

(E) Veereshalingam Panthulu

Choose the correct answer from the options given below :
M (A), (B), (E), (D), (C)

(2) (B), (D), (C), (A), (E)

3) (©), (E), (B), (A), (D)

(4) (D), (A), (C), (E), (B)

A o FAfetfiEd T -gare-THE H1 3 GHTIH & AR WA %Y § sgatd St
(&)  wEre me

(B)  STeRTER faeisd

(C) TN Higd I

(D) T wHTE wAfE

(B)  Tersrferm uyge]

49 fev o feTi 0 9 HEl I B TTH #Hifau -
(1) (A, B). (E). D). (C)
(2)  (B). (D). (C). (A). (E)
(3)  (C). (E). (B). (A). (D)
4 (D). (A).(C). (E). B

[Question ID = 3015][Question Description = Q77_MassComJourn_SHAAN_20NOV21_S1_Shift2]
1.1

[Option ID = 11523]
2.2



[Option ID = 11524]
3.3

[Option ID = 11525]
4. 4

[Option ID = 11526]

78) ldentity the correct sequence of elements in a newspaper’s front newspage.
(A) Headlines

(B) Nameplate

(C) Ears

(D) Anchor story

(E) Skyline banner

Choose the correct answer from the options given below :
M (E), (B), (C), (A), (D)

() (A), (B), (D), (E), (C)

3) (B), (C), (A), (D), (E)

(4) (©), (D), (E), (B), (A)

HHTER W & Sed U9 § fefafiga srawal & w81 wn 6 gg=m Fif

-,

(A)  EselsH
(B)  AHere

(€ 3=

(D) U =

(E)  ©hiselisd &1

I few o fawedi © 9 9d I = 999 Fifo
(1)  (E). (B). (C). (A). (D)

2 (@A) ®B. D). E)(©)
(3 (B). (). A). D). (E)

@ (0. (D). (E). B). A

[Question ID = 3016][Question Description = Q78_MassComJourn_SHAAN_20NOV21_S1_Shift2]
1. 1

[Option ID = 11527]
2.2

[Option ID = 11528]
3.3

[Option ID = 11529]
4. 4

[Option ID = 11530]
79) James Webb Young in his model on how advertising works gave a five part logical sequence. Identity the correct
sequence from the options.

(A) Overcome inertia

(B) Add Value

(C) Remind
(D) Disseminate
(E) Familiarise

Choose the correct answer from the options given below :

1) (B), (C), (A), (E), (D)



(2) (A), (B), (C), (D), (E)

(3) (C), (E), (A), (B), (D)

(4) (E), (C), (D), (A), (B)
Aeq ded A A fased & wede geHi 399 gizd O 9= Jifde s fafafds faa 21 feu o faweg o
H Hél %4 YR

(A)  Fed W HE T

B  HeA T
(C)  =FY &M
(D) WEE

(E)  ftfaa s

fi= feu o frsredi § 9 9@l 3 1 ==a Fifsu .

(1) B.(C). @A), (E). D)
2)  A).®B).(©C). M. (E)
3) (O (E). (A). (B). (D)
4 (B (C). D). A).(®B)

[Question ID = 3017][Question Description = Q79_MassComJourn_SHAAN_20NOV21_S1_Shift2]
1.1

[Option ID = 11531]
2.2

[Option ID = 11532]
3.3

[Option ID = 11533]
4. 4

[Option ID = 11534]

80) The sequencce of logical questions in planning for public relations campaigns is
(A) What do | want to achieve?
(B) How shall | say it?
©) Who do | want to talk to?
(D) How do | know | have got it right ?
(E) What do | want to say ?
Choose the correct answer from the options given below :
(1) (C), (B), (D), (A), (E)
(2) (A), (©), (E), (B), (D)
(3) (A), (C), (D), (E), (B)
(4) (D), (C), (A), (E), (B)
T4 T I B A i 3 il g %1 # R
(A) T =0 ga FH =R 2
B)  H ¥z HE wGN?
(©) 1 forad ama Fe == 2
(D) gt &4 9al Fern b B4 30 HEl qye 87

(B)  # @0 &an =red & 7



A feu e faspedi 4 & g&l I 1 = Hif
1)  (©). B). D). A). (E)
2) @A) (0. (E).®). D)
(3) @A).(©), D). E.®
(4 (D). (C). A). (E). B)

[Question ID = 3018][Question Description = Q80_MassComJourn_SHAAN_20NOV21_S1_Shift2]
1. 1

[Option ID = 11535]
2.2

[Option ID = 11536]
3.3

[Option ID = 11537]
4. 4

[Option ID = 11538]

81) Select the correct sequence of the following statutes in India.
(A) The Official Secrets Act.
(B) The Indian Penal Code.
©) The Working Journalist’s Act.
(D) The Press and Registration of Books Act.
(E) The Right to Information Act.
Choose the correct answer from the options given below :
M (A), (E), (B), (C), (D)
() (B), (D), (A), (C), (E)
3) (©), (E), (B), (D), (A)
(4) (D), (A), (E), (C), (B)
yrd 4 fafefiaa afafei & w8 s i
(A)  sfuerriva e sfafay
(B) WA gug Hfaa
(C)  #uidl uFerr sfafam

(D) 99 3 g e srfafray
(E) g1 &1 3fgsn sifufrm

i few e foerei 4 A =& I w1 = i
(L) (A).(E).®B.(©). D
(2)  (B). (D). A). (C). (E)
3 (€. (E). B). D). &)
@ D). ©A. E).(©).®B

[Question ID = 3019][Question Description = Q81_MassComJourn_SHAAN_20NOV21_S1_Shift2]
1.1

[Option ID = 11539]
2.2

[Option ID = 11540]
3.3

[Option ID = 11541]
4. 4



[Option ID = 11542]

82) Choose the correct sequence of the following trends in American Journalism:
(A) Pass-on readership

(B) Penny Press

©) New/Yellow Journalism

(D) Jazz Journalism

(E) Corporate Journalism

Choose the correct answer from the options given below :
M (A), (B), (C), (D), (E)

() (B), (C), (D), (E), (A)

3) (©), (D), (E), (A), (B)

(4) (D), (E), (A), (B), (C)

sty wspfen sra O Frefafiaa s @1 58 sy gfo .

(A)  IE-3i frefin
B) U=t Ty

(C) = /Feell FfeT=H
(D)  oF T

(E) =iz sfersyg

e feu e foenedi § 9 gl I 1 = ifaa
L @.®B). (). D). (E)
(2 (B). (0). D). (E). (A)
(3) (0. (D). (E). (A). (B
4 D). (E).A.®). ©

[Question ID = 3020][Question Description = Q82_MassComJourn_SHAAN_20NOV21_S1_Shift2]
1. 1

[Option ID = 11543]
2.2

[Option ID = 11544]
3.3

[Option ID = 11545]
4. 4
[Option ID = 11546]
83) The different stages of Internet development in sequence are:
(A) Data transfer system in packages.
(B) Appearance of MP3 format.
(C) Creation of first local network.
(D) Creation of search engine.
(E) Development of hypertext documents (WWW).

Choose the correct answer from the options given below :

(1) (A), (B), (C), (E), (D) (2) (B), (C), (D), (E), (A)



(3) (C), (D), (E), (A), (B) (4) (A), (C), (E), (D), (B)
geie-SdeITHe & fafv= whn #1 98l w9 2 -
(A)  FF 4 22 v yurred
(B) vy i 3wz % IguEA
(C) 99y efishel 42deh 1 Yo
(D) &= A #1 g9
(E) IgW soe gidle (desarss 94) fasfe fan s

Hre feu o fammedi d | | I @1 959 Fifa
1) (A).(B). (C). (E). D)
(2)  (B). (C). (D) (E). (A)
(3) (). (D), (E). (A). (B)
4 (A). (O, (E). D). B

[Question ID = 3021][Question Description = Q83_MassComJourn_SHAAN_20NOV21_S1_Shift2]
1 [Option ID = 11547]
2 [Option ID = 11548]
3 [Option ID = 11549]
4 [Option ID = 11550]

A WN -

84) Which common order is to be followed in a news story according to Carole Rich?
(A) Lead

(B) Lead Quote

(C) Comments

(D) Nut graph

(E) Impact

Choose the correct answer from the options given below :
M (B), (A), (C), (D), (E)

() (A), (D), (B), (C), (E)

3) (A), (D), (B), (E), (C)

(4) (A), (B), (D), (E), (C)

Ftel Tra & srEn Tl wuran (=@ w@il) O Fofatea O 9 fe = s % seo fen s 27

(A) e

B iz w0
(C) wHzH
(D)  H2 9%
(E) gH#

9 feu mu famedi 0 | wE I & 999 difau
(1 (B). (4). (C). (D). (E)
(2) (A). (D). (B). (C). (E)

(3)  @. (D). ®B). (E).(©)



4 A (B [D).(E).©

[Question ID = 3022][Question Description = Q84_MassComJourn_SHAAN_20NOV21_S1_Shift2]
1. 1

[Option ID = 11551]
2.2

[Option ID = 11552]
3.3

[Option ID = 11553]
4. 4

[Option ID = 11554]

85) The correct sequence of basic steps in focus group research is

(A) Prepare the study mechanics
(B) Determine the number of groups needed
(9] Select a sample

(D) Define the problem

(E) Execute the research plan

Choose the correct answer from the options given below :
(1) (D), (C), (B), (A), (E)

(2) (A), (B), (D), (E), (C)

(3) (B), (C), (A), (D), (E)

(4) (E), (D), (C), (B), (A)

wierg 19 frad % gerga =l @1 5d w5y 2

(A)  eEE gl TR F

(B)  wdfard \g&l il HEm srauried &

(C)  ufdedl %1 ==H

(D)  HETl &) T F

(E) 91 AT sl Hrifeda sl

e few mu ferpedi § & el 3 1 @A Hifa .
(1 (D). (). (B). (A). (E)

2 @. B, D). E) ©)
(3 (B (C). A (D). (E)
4  (E). D) (©).[B). A
[Question ID = 3023][Question Description = Q85_MassComJourn_SHAAN_20NOV21_S1_Shift2]

1.1

[Option ID = 11555]
2.2

[Option ID = 11556]
3.3

[Option ID = 11557]
4. 4

[Option ID = 11558]

86) Given below are two statements: One is labelled as Assertion A and the other is labelled as Reason R.

Assertion (A) : The classical functions of media represent their universal acceptance among media
theorists.

Reasons (R) : The functional analysis theory of media has its dysfunctions listed by critics.



In the light of the above statements, Choose the correct answer from the options given below:
(1)  Both (A) and (R) are true and (R) is the correct explanation of A

(2) Both (A) and (R) are true but (R) is NOT the correct explanation of A

3) (A) is true but (R) is false

(4) (A) is false but (R) is true

i g1 @A fqu e 7| v 31fushed (Assertion A) % ¥4 ¥ fdifigd 2 d1 g1 39% R (Reason R) %
w99

stfisrea (A):  Hifeen o aenfiehl o difen fagiasni § v arddifyes wfisfq @ frefid @ 2)
*M (R) Hifem & verrtens favery fiaga 6 Rfssa sreras go gedag 6 1 2)

IR HUH & e 0, A feu o fawedi 4 9 v 3w &1 =231 Fif)

(1) A 3R <H 88l 2 310 R, A & ol sawe 21
(2) A 3N R <A TE 2 3 R, A 6w sumen 98 2
(3 An™ez, df R 3@ 2

(4) A 35a 2, dfdd R |51 2

[Question ID = 3024][Question Description = Q86_MassComJourn_SHAAN_20NOV21_S1_Shift2]
1. 1

[Option ID = 11559]
2.2

[Option ID = 11560]
3.3

[Option ID = 11561]
4. 4

[Option ID = 11562]

87) Given below are two statements: One is labelled as Assertion A and the other is labelled as Reason R

Assertion (A) : Traditional developmental approaches of ‘understanding reality’ is a violation of the
very idea of communication.

Reason (R) : A criticism is that the notion of mass communication itself is oxymoron leading to
information oligarchy.

In the light of the above statements, Choose the most appropriate answer from the options given below:
(1) Both Statement (A) and Statement (R) are correct

(2) Both Statement (A) and Statement (R) are incorrect

(3) Statement (A) is correct but Statement (R) is incorrect

(4) Statement (A) is incorrect but Statement (R) is correct

H= g1 @A fou e 2| v AUk (Assertion A) & ¥9 § fefigd 2 1 g1 35 %V (Reason R) %
®q W .

A (A): T I gergE” | Hefaa widie f9EmEeEE I HER $ ge SEERn #
oA 2|

A0 (R) : gl st g2 2 fh 99 wan w sifaae s smg o famenard 21 frges oftomg
TEEY oAl Feddd & 9l 2 2

IF FUHE & FAF °, Fi9 fou mu faeedi 0 9 9d 3w &1 939 Fif)



(1) A 3H kgiHl Hel &
(2) A 3R RZE 2 4 2
(3 A " 2, dfda R 315 21

4) A 3EA B, A4 R 5 21

[Question ID = 3025][Question Description = Q87_MassComJourn_SHAAN_20NOV21_S1_Shift2]
1. 1

[Option ID = 11563]
2.2

[Option ID = 11564]
3.3

[Option ID = 11565]
4. 4

[Option ID = 11566]

88) Given below are two statements: One is labelled as Assertion A and the other is labelled as Reason R.

Assertion (A) : The television news presentation is a disjointed narrative.
Reasons (R) : In the absence of alternative credible information, the media frames do matter for the
audience.

In the light of the above statements, Choose the correct answer from the options given below:
(1)  Both (A) and (R) are true and (R) is the correct explanation of A

(2) Both (A) and (R) are true but (R) is NOT the correct explanation of A

(3) (A) is true but (R) is false

(4) (A) is false but (R) is true

419 @1 @A fau e 2| v AfUR (Assertion A) % ¥9 4 foafigd 2 @ g9 39% FWV (Reason R) %

QW .

sfuada (A):  Zefifas guran wedfd s (fgafa) sams 2)

FI (R) : defers favamdm g9 & 3wE § sEEsl & fou ditsm % g ffraa =0 8
HEFEl 7|

IYIF U & Aol 4, 2 fou o fomedi 0 | v 3w w1 w57 Fifa)

(1) A3 RgH |8l 2 3 R, A &l 98l =qmEn 2
(2) A 3R g4 2 3 R, A & 91 savEn 81 2)
(3 A=dEz, dfed R 3@ B

(4 A 3E™ 2, dfd R w9 2

[Question ID = 3026][Question Description = Q88_MassComJourn_SHAAN_20NOV21_S1_Shift2]
1.1

[Option ID = 11567]
2.2

[Option ID = 11568]
3.3

[Option ID = 11569]
4. 4

[Option ID = 11570]

89) Given below are two statements: One is labelled as Assertion A and the other is labelled as Reason R.

Assertion (A) : The law of copyright is also applied to advertisements in media.



Reasons (R) : The copyright in the advertising matter belongs to the advertiser, in the absence of any
contract otherwise.

In the light of the above statements, Choose the correct answer from the options given below:
(1) Both (A) and (R) are true and (R) is the correct explanation of A

(2) Both (A) and (R) are true but (R) is NOT the correct explanation of A

(3) (A) is true but (R) is false

(4) (A) is false but (R) is true

4= 21 Fe fqu o &) v fU%e (Assertion A) % €9 1 fdifigd 2 A1 g5 394 F (Reason R) %

®9W

wAfvpem (A):  wfafererfier i fafy difen § fasmdi w o awp 8 21
Frv (R) : fasigq & mmel 4 wfdafoeafasn st w8 |fae 48 aF @ fasmm ye=qd seae @
&l 2

" omsom

I wUH & 3l 1, = fer o faemedi 0 | wdl I w1 =gm Fifaw)

(1) A 3R eH 88 2 3 R, A & o sarem 2
(2) A 3R R gF 44l 2 3 R, A <l 9l sre 46 2
(3) A= 2, dfed R 3@ 7

(4) A 383 2, dfd R °94 2

[Question ID = 3027][Question Description = Q89_MassComJourn_SHAAN_20NOV21_S1_Shift2]
1. 1

[Option ID = 11571]
2.2

[Option ID = 11572]
3.3

[Option ID = 11573]
4. 4

[Option ID = 11574]

90) Given below are two statements: One is labelled as Assertion A and the other is labelled as Reason R.

Assertion (A) : More media means more accessibility as well as increase in economic concentration in
media, besides knowledge gap between rich and poor.

Reasons (R) : The conventional mass media like newspapers, radio and television along with electronic
and digital options are responsible for expanded reach and options for the consumers.

In the light of the above statements, Choose the correct answer from the options given below:
(1) Both (A) and (R) are true and (R) is the correct explanation of A

(2) Both (A) and (R) are true but (R) is NOT the correct explanation of A

3) (A) is true but (R) is false

(4) (A) is false but (R) is true

4= 21 #ea fou o A vs 3fUEeH (Assertion A) % ¥4 1§ foifigd 2 41 g1 3% F0 (Reason R) %

w9 H

st (A) ;. Hifemn i srfae Ivereymn 4 gl 3 fiE & ne 7@ F vEE & sreran sifus st
F gry-qry Mifea 4 anfels grso d st wfina 2)

FH (R) : HqurEn T4, el 3 defifaaa S8 w9 wEne soieeie vd fesfed fawe %
|19 F9HifEns & foe fasga siform sk fasey & fon saeerd 2



IR H2H % el 4, 9 fou mu famedi § 8 wd 3w 1 99 ifau)

(1) AN REH 9l 8 310 R, A & 9dl sarzn 2|
(2) AR TA 2 3 R, A6 o samen 19 2
3 Anxz, dfed R 3w B

(4 A 3H™ 8, oif$d R 91 7|

[Question ID = 3028][Question Description = Q90_MassComJourn_SHAAN_20NOV21_S1_Shift2]
1.1

[Option ID = 11575]
2.2

[Option ID = 11576]
3.3

[Option ID = 11577]
4. 4

[Option ID = 11578]

Topic:- 63MassComJourn_B
1) Read the passage carefully and answer the question that follow:

Many of the theorists whose ideas we discuss believe that media play a central role in modern social orders or our daily
lives. Rather than presenting us with the types of empirical evidence favored by post positivists, they ask us to accept their
view of media influence using logic, argument, and our own powers of observation. Some describe compelling examples to
illustrate their arguments. Others offer empirical evidence for their belief in powerful media, but they use innovative
research methods, and so their work is challenged and questioned by post positivist researchers. During the 1970s and
1980s, supporters of the limited-effects perspective were especially troubled by the rise of cultural theories. They were
quick to question the evidence offered by cultural theorists. They saw cultural theories as new variations of mass society
theory-a theory they fell they had quite effectively debunked in the 1950s and 1960s. Limited-effects researches -
believed that cultural theories were too speculative and the empirical research generated from these theories was too
loosely structured.

Cultural studies and political economy theorists employ a broad range of research methods and theory-generation strategies,
including some that are unsystematic and selective. As a result, critics believe that personal biases and interests inevitably
motivate culture researchers and affect the outcome of their work. But, argue cultural theory's defenders, this is
acceptable as long as researchers openly acknowledge those biases or interests.

The techniques used by many critical or cultural researchers are often qualitative method. That is, they highlight essential
differences (distinctive qualities) in phenomena. Epistemologically, the creation and advancement of knowledge tends to
be accomplished through discourse (debate and discussion) involving proponents of contrasting or opposing theoretical
positions. Theory is advanced through the formation of schools of thought in which there is consensus about the validity of a
specific body of theory. Often rival schools of theory emerge to challenge existing theories while developing and defending
their own. Proof of a theory’s power often rests in its ability to attract adherents and be defended against attacks from
opponents.

Not surprisingly, researchers who adopt a post positivist approach find cultural theories hard to accept. They are skeptical of
theories evaluated more through discourse than through empirical research. Post positivist media researchers place far less
stress on theory development or criticism. Their research methods are used to generate theory and to test theory rather
than as a means of making qualitative differentiations. They argue that if empirical research is conducted according to
prevailing standards, findings can be readily accepted throughout the research community. If other researchers doubt the
validity of specific findings, they can replicate (duplicate) the research and then report conflicting findings. But in truth,
these conflicting reports are quite rare and provoke considerable controversy when they are published. Though there is
verbal debate between those who espouse conflicting empirically based theories, these disagreements rarely appear in
print. When they do, both sides present empirical findings to support their positions. Arguments often center on
methodological disputes about the reliability and validity of research findings rather than the strength of the theoretical
propositions-researchers disagree about whether appropriate methods were used, question the application of specific
methods, or argue that the data were improperly analyzed. Much less attention is given to the structure and consistency of
theoretical propositions. When theory is developed, it takes the form of middle-range theory-theory that summarizes sets of
empirical generalizations and doesn't make strong assertions or assumptions about the role of media.
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What do the post positivists do to prove the influence of media?
(1) Argue with non-positivists

(2) Reject the findings of cultural studies

3) Present empirical findings

(4) Challenge the methodologies of non - positivists

(1)  T-veasEaneal & @9 aF-aaF Fd 2l
(2)  TEHAF TEER F FAA F SEFS F4 B
(3) ==l Aot wEa w1 3

(4)  T-vrmgETeAl F Tgiaar B A G 2



[Question ID = 3029][Question Description = Q91_MassComJourn_SHAAN_20NOV21_S1_Shift2]
1.1
[Option ID = 11579]
2. 2
[Option ID = 11580]
3.3

[Option ID = 11581]
4. 4

[Option ID = 11582]
2) Read the passage carefully and answer the question that follow:

Many of the theorists whose ideas we discuss believe that media play a central role in modern social orders or our daily
lives. Rather than presenting us with the types of empirical evidence favored by post positivists, they ask us to accept their
view of media influence using logic, argument, and our own powers of observation. Some describe compelling examples to
illustrate their arguments. Others offer empirical evidence for their belief in powerful media, but they use innovative
research methods, and so their work is challenged and questioned by post positivist researchers. During the 1970s and
1980s, supporters of the limited-effects perspective were especially troubled by the rise of cultural theories. They were
quick to question the evidence offered by cultural theorists. They saw cultural theories as new variations of mass society
theory-a theory they fell they had quite effectively debunked in the 1950s and 1960s. Limited-effects researches -
believed that cultural theories were too speculative and the empirical research generated from these theories was too
loosely structured.

Cultural studies and political economy theorists employ a broad range of research methods and theory-generation strategies,
including some that are unsystematic and selective. As a result, critics believe that personal biases and interests inevitably
motivate culture researchers and affect the outcome of their work. But, argue cultural theory's defenders, this is
acceptable as long as researchers openly acknowledge those biases or interests.

The techniques used by many critical or cultural researchers are often qualitative method. That is, they highlight essential
differences (distinctive qualities) in phenomena. Epistemologically, the creation and advancement of knowledge tends to
be accomplished through discourse (debate and discussion) involving proponents of contrasting or opposing theoretical
positions. Theory is advanced through the formation of schools of thought in which there is consensus about the validity of a
specific body of theory. Often rival schools of theory emerge to challenge existing theories while developing and defending
their own. Proof of a theory’s power often rests in its ability to attract adherents and be defended against attacks from
opponents.

Not surprisingly, researchers who adopt a post positivist approach find cultural theories hard to accept. They are skeptical of
theories evaluated more through discourse than through empirical research. Post positivist media researchers place far less
stress on theory development or criticism. Their research methods are used to generate theory and to test theory rather
than as a means of making qualitative differentiations. They argue that if empirical research is conducted according to
prevailing standards, findings can be readily accepted throughout the research community. If other researchers doubt the
validity of specific findings, they can replicate (duplicate) the research and then report conflicting findings. But in truth,
these conflicting reports are quite rare and provoke considerable controversy when they are published. Though there is
verbal debate between those who espouse conflicting empirically based theories, these disagreements rarely appear in
print. When they do, both sides present empirical findings to support their positions. Arguments often center on
methodological disputes about the reliability and validity of research findings rather than the strength of the theoretical
propositions-researchers disagree about whether appropriate methods were used, question the application of specific
methods, or argue that the data were improperly analyzed. Much less attention is given to the structure and consistency of
theoretical propositions. When theory is developed, it takes the form of middle-range theory-theory that summarizes sets of
empirical generalizations and doesn't make strong assertions or assumptions about the role of media.
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How do the Positivists describe cultural theories?

1) Non - effective

(2) Not evidence - based
3) Argumentative
(4) Conjecture and loosely constructed
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[Question ID = 3030][Question Description = Q92_MassComJourn_SHAAN_20NOV21_S1_Shift2]
1.1

[Option ID = 11583]
2.2

[Option ID = 11584]
3.3

[Option ID = 11585]
4. 4

[Option ID = 11586]



3) Read the passage carefully and answer the question that follow:

Many of the theorists whose ideas we discuss believe that media play a central role in modern social orders or our daily
lives. Rather than presenting us with the types of empirical evidence favored by post positivists, they ask us to accept their
view of media influence using logic, argument, and our own powers of observation. Some describe compelling examples to
illustrate their arguments. Others offer empirical evidence for their belief in powerful media, but they use innovative
research methods, and so their work is challenged and questioned by post positivist researchers. During the 1970s and
1980s, supporters of the limited-effects perspective were especially troubled by the rise of cultural theories. They were
quick to question the evidence offered by cultural theorists. They saw cultural theories as new variations of mass society
theory-a theory they fell they had quite effectively debunked in the 1950s and 1960s. Limited-effects researches -
believed that cultural theories were too speculative and the empirical research generated from these theories was too
loosely structured.

Cultural studies and political economy theorists employ a broad range of research methods and theory-generation strategies,
including some that are unsystematic and selective. As a result, critics believe that personal biases and interests inevitably
motivate culture researchers and affect the outcome of their work. But, argue cultural theory's defenders, this is
acceptable as long as researchers openly acknowledge those biases or interests.

The techniques used by many critical or cultural researchers are often qualitative method. That is, they highlight essential
differences (distinctive qualities) in phenomena. Epistemologically, the creation and advancement of knowledge tends to
be accomplished through discourse (debate and discussion) involving proponents of contrasting or opposing theoretical
positions. Theory is advanced through the formation of schools of thought in which there is consensus about the validity of a
specific body of theory. Often rival schools of theory emerge to challenge existing theories while developing and defending
their own. Proof of a theory’s power often rests in its ability to attract adherents and be defended against attacks from
opponents.

Not surprisingly, researchers who adopt a post positivist approach find cultural theories hard to accept. They are skeptical of
theories evaluated more through discourse than through empirical research. Post positivist media researchers place far less
stress on theory development or criticism. Their research methods are used to generate theory and to test theory rather
than as a means of making qualitative differentiations. They argue that if empirical research is conducted according to
prevailing standards, findings can be readily accepted throughout the research community. If other researchers doubt the
validity of specific findings, they can replicate (duplicate) the research and then report conflicting findings. But in truth,
these conflicting reports are quite rare and provoke considerable controversy when they are published. Though there is
verbal debate between those who espouse conflicting empirically based theories, these disagreements rarely appear in
print. When they do, both sides present empirical findings to support their positions. Arguments often center on
methodological disputes about the reliability and validity of research findings rather than the strength of the theoretical
propositions-researchers disagree about whether appropriate methods were used, question the application of specific
methods, or argue that the data were improperly analyzed. Much less attention is given to the structure and consistency of
theoretical propositions. When theory is developed, it takes the form of middle-range theory-theory that summarizes sets of
empirical generalizations and doesn't make strong assertions or assumptions about the role of media.
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What suggestion do the defenders give, as a support, to the researchers of cultural studies?
1) Advise them to declare their biasness
(2) Attack the post positivists
3) Follow the methods of the post positivists

(4) Reject the criticism of the post positivists
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[Question ID = 3031][Question Description = Q93_MassComJourn_SHAAN_20NOV21_S1_Shift2]
1.1

[Option ID = 11587]
2.2
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3.3

[Option ID = 11589]
4. 4

[Option ID = 11590]
4) Read the passage carefully and answer the question that follow:

Many of the theorists whose ideas we discuss believe that media play a central role in modern social orders or our daily
lives. Rather than presenting us with the types of empirical evidence favored by post positivists, they ask us to accept their
view of media influence using logic, argument, and our own powers of observation. Some describe compelling examples to
illustrate their arguments. Others offer empirical evidence for their belief in powerful media, but they use innovative
research methods, and so their work is challenged and questioned by post positivist researchers. During the 1970s and
1980s, supporters of the limited-effects perspective were especially troubled by the rise of cultural theories. They were
quick to question the evidence offered by cultural theorists. They saw cultural theories as new variations of mass society
theory-a theory they fell they had quite effectively debunked in the 1950s and 1960s. Limited-effects researches -
believed that cultural theories were too speculative and the empirical research generated from these theories was too
loosely structured.



Cultural studies and political economy theorists employ a broad range of research methods and theory-generation strategies,
including some that are unsystematic and selective. As a result, critics believe that personal biases and interests inevitably
motivate culture researchers and affect the outcome of their work. But, argue cultural theory's defenders, this is
acceptable as long as researchers openly acknowledge those biases or interests.

The techniques used by many critical or cultural researchers are often qualitative method. That is, they highlight essential
differences (distinctive qualities) in phenomena. Epistemologically, the creation and advancement of knowledge tends to
be accomplished through discourse (debate and discussion) involving proponents of contrasting or opposing theoretical
positions. Theory is advanced through the formation of schools of thought in which there is consensus about the validity of a
specific body of theory. Often rival schools of theory emerge to challenge existing theories while developing and defending
their own. Proof of a theory’s power often rests in its ability to attract adherents and be defended against attacks from
opponents.

Not surprisingly, researchers who adopt a post positivist approach find cultural theories hard to accept. They are skeptical of
theories evaluated more through discourse than through empirical research. Post positivist media researchers place far less
stress on theory development or criticism. Their research methods are used to generate theory and to test theory rather
than as a means of making qualitative differentiations. They argue that if empirical research is conducted according to
prevailing standards, findings can be readily accepted throughout the research community. If other researchers doubt the
validity of specific findings, they can replicate (duplicate) the research and then report conflicting findings. But in truth,
these conflicting reports are quite rare and provoke considerable controversy when they are published. Though there is
verbal debate between those who espouse conflicting empirically based theories, these disagreements rarely appear in
print. When they do, both sides present empirical findings to support their positions. Arguments often center on
methodological disputes about the reliability and validity of research findings rather than the strength of the theoretical
propositions-researchers disagree about whether appropriate methods were used, question the application of specific
methods, or argue that the data were improperly analyzed. Much less attention is given to the structure and consistency of
theoretical propositions. When theory is developed, it takes the form of middle-range theory-theory that summarizes sets of
empirical generalizations and doesn't make strong assertions or assumptions about the role of media.
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What is the primary purpose of the post positivists for conducting research studies?
1) To negate cultural studies

(2) Build and evaluate theories

3) Test the validity and reliability

(4) Force their views on other researchers
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[Option ID = 11594]
5) Read the passage carefully and answer the question that follow:

Many of the theorists whose ideas we discuss believe that media play a central role in modern social orders or our daily
lives. Rather than presenting us with the types of empirical evidence favored by post positivists, they ask us to accept their
view of media influence using logic, argument, and our own powers of observation. Some describe compelling examples to
illustrate their arguments. Others offer empirical evidence for their belief in powerful media, but they use innovative
research methods, and so their work is challenged and questioned by post positivist researchers. During the 1970s and
1980s, supporters of the limited-effects perspective were especially troubled by the rise of cultural theories. They were
quick to question the evidence offered by cultural theorists. They saw cultural theories as new variations of mass society
theory-a theory they fell they had quite effectively debunked in the 1950s and 1960s. Limited-effects researches -
believed that cultural theories were too speculative and the empirical research generated from these theories was too
loosely structured.

Cultural studies and political economy theorists employ a broad range of research methods and theory-generation strategies,
including some that are unsystematic and selective. As a result, critics believe that personal biases and interests inevitably
motivate culture researchers and affect the outcome of their work. But, argue cultural theory's defenders, this is
acceptable as long as researchers openly acknowledge those biases or interests.

The techniques used by many critical or cultural researchers are often qualitative method. That is, they highlight essential
differences (distinctive qualities) in phenomena. Epistemologically, the creation and advancement of knowledge tends to
be accomplished through discourse (debate and discussion) involving proponents of contrasting or opposing theoretical
positions. Theory is advanced through the formation of schools of thought in which there is consensus about the validity of a
specific body of theory. Often rival schools of theory emerge to challenge existing theories while developing and defending
their own. Proof of a theory’s power often rests in its ability to attract adherents and be defended against attacks from



opponents.

Not surprisingly, researchers who adopt a post positivist approach find cultural theories hard to accept. They are skeptical of
theories evaluated more through discourse than through empirical research. Post positivist media researchers place far less
stress on theory development or criticism. Their research methods are used to generate theory and to test theory rather
than as a means of making qualitative differentiations. They argue that if empirical research is conducted according to
prevailing standards, findings can be readily accepted throughout the research community. If other researchers doubt the
validity of specific findings, they can replicate (duplicate) the research and then report conflicting findings. But in truth,
these conflicting reports are quite rare and provoke considerable controversy when they are published. Though there is
verbal debate between those who espouse conflicting empirically based theories, these disagreements rarely appear in
print. When they do, both sides present empirical findings to support their positions. Arguments often center on
methodological disputes about the reliability and validity of research findings rather than the strength of the theoretical
propositions-researchers disagree about whether appropriate methods were used, question the application of specific
methods, or argue that the data were improperly analyzed. Much less attention is given to the structure and consistency of
theoretical propositions. When theory is developed, it takes the form of middle-range theory-theory that summarizes sets of
empirical generalizations and doesn't make strong assertions or assumptions about the role of media.
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1| Hifa waE & siEwdis & o ofl f wesfas faga s sgem W osnatia @ s =
fagrdl | dreya varmafas wig s famm agmfaa 76 2)

Wﬁ%mﬁwﬁﬁm&ﬂa@naﬁw | it gafen sin fagia
FEfaEl @& I w2 fad g U&ﬁ%ﬁqaﬁzm‘m&iaﬁmwﬁmamwm | gaH
W,me%%é&ﬁmwmﬁmﬁw@ﬁ%ﬁwﬁaﬁwmm
vl 8 30 g waTd 39 g B Wl gz 21 fheq Ao fagE F uae S w1 T 2
for & oo vl gort Yy 21 Syl & =i w@ien Fd 8, 79 76 38 wfiwd 2

SIgd 8 shifdeh el diepfaeh Sierhdisi gr sy et § srae porenes fafeen A1l 2, sieiq
4 aftgeraid qel siat (fadieshrdl Moil) 1 39 sed 21 3 duren 6 gfe 8 59 F1 ge S g
ferirgeptl speran fafiehl & fawfia dgifaes awian & faasl (awefar it ==i) % aerm & of da 2) fd
i firgia =60 3m fommam % fafo & mem 4 smi sern s 2 el fugre fasm 6 fafmrem & an
U o Fd 8l U ¢Ed 1 e @ e faed fagmaraensl sod =g & fagdl & gfduiga s 3
gfeeqt 3 & 9 1 fqemm fage =1 99 o0 21 fFd fagm & amed &1 oy 9= s #6e
g@ﬁmwﬁ%ﬁ%ﬁﬁﬁhﬁmmmﬁﬁmmﬁ%ﬁmﬁmm

=l ©l

Tl i aved 9 2 T uve vesware gfeedm @1 weften ddare Muddisi & fon wsfas
fagidl =1 wfien s #fea 21 392 sfoamutas oy 6 smen 9=l 9 faar 9uq % wem 8§ genfed
gl & =1 8 vkl @Al 2| 9ve yearErg Hifew wigedl fgm & fawm s e WosEa e
FH g 81 Ik YA &1 I9am fagm & ufaared R 3 gfiem & e T S @ a9 shek
feh 39 ggfagl 1 wam e fade Sa wi o JeE + w9 ° few o) 39 a2 fe afe sgeaEe
% sqan sfgaraafas s foran smo a1 iy & S T s w8 s 3 g @ JEd 2
I 31 Siuddi s &1 fafime Fd@ &1 fam=a = %18 |@¢2 2 i 9 39 g F1 gfafald don = 3699
fumt 9dftd 1 fodrd § wapd 8 fobd oqa: g9 g o6l favdia foard g & s e yeeH EH W aEd
Al faare 309 dran 21 qafy faufia shamufas fagEi # SR sl & ge1 T ae-
faare 8, g sweufd & e @ ol fefaa 4 secra fn wman 21 ww wdi off Tan g 2 A1 4 ve
SR 3 T g sfomrufas Freed seqd ed #) 39 g wedd @b ur: dguifas adh-
Al R S % SR 0 A f) s e % oford i favaedia s faeman % s uefa 8
Heifea faardl w Ff2a 2@ 2, sute siaswdalsi 8 3a dau § smeafy wd 2 fe ayeg fafed o wim
farn e o A, A fafime ugfa % AT W HGE w3 sl aded 2k wed & Ifad ®T 9
fergerm e fobn w1 1 Hgwifash adbarddl Hi e 3 A W agd w0 e fon o 2 S
fagia fawfaa g 2 @ 22 ne-is fag@ & =9 dd@ 2 - 98 vw fagE 2 faed sfemufas
m@a%mméafnmrﬁﬁmﬁ@méaaﬁ“m@mmaw
Eig)

How do the cultural theorists propound new theories and advance knowledge?



(1) Indifferent to any criticism
(2) Attack the past theories
3) Identify specific characteristics of an issue through arguments

4) Write their opinion elaborately
HrEafda fagiasn e g qu gl &1 gfaared 3l s &1 34 &d 22

(1) 2 = % ufa Jerda e 8
(2) 4 Tee fagmEl i sAe= w1d 2
(3) 9 ak-faadk & wrem @ Tt gy & fafore sifuserfiore ni 6 gg=m @ 2

(4) 9 AH ¥ F FEeET § AR = 2
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Topic:- 63MassComJourn_C
1) Read the passage carefully and answer the question that follow:

The consumer can respond to an advertisement as an isolated stimulus, and different communications vehicles enable the
manufacturer to focus communication in a tailor-made way for each medium and even for each vehicle. However, the
consumer's response is also affected by a gestalt, the sum of many communications about the brand-for example, by what
he or she knows of it, where it is sold, who uses it, and how it is promoted to the trade and the consumer. Most important,
there is an implicit communication about the brand in the advertising company it keeps, in the media and media vehicles in
which it appears; to a large extent, the medium is indeed the message. Yet dissonance of all types is only too common in
the real world.

An automobile advertisement tries to persuade us that the brand is now better built and more reliable than ever before; at
the same time, the advertisement offers a massive price rebate, as if to demonstrate that the manufacturer does not
believe its own quality claims. Another car advertisement, for an exceedingly traditional make of automobile with dated
styling, tries to persuade younger buyers that the car is now for them-simply by saying that it is now for them. A highly
exclusive brand focused on the upper end of its market runs advertisements on prime-time network television, shoulder to
shoulder with the most undiscriminating mass-market brands. A highly sophisticated product concept is promoted in
advertisements of stupefying banality. These instances are in no way exceptional. We can see these and similarly
disheartening examples on television virtually every evening.

When consumers are asked to describe the personalities of well-known banks and gasoline companies, these impressions turn
out to be uniformly negative. The implicit-but of course unintended-communications about these organizations (e.g.,
unfavorable mentions in the media) clearly influence consumers more than do the explicit, planned communications.

During the 1970s, a parable was circulated widely within the J. Walter Thompson agency and presented engagingly by
Jeremy Bullmore, then head of the agency’s London office-a parable that illustrates vividly the meaning of communications
gestalt.

ferel fasioq 61 UehTehl 340 o ®9 | oie 3TWIE il TfdfRa & Fehdl & 3 Han & fus-fus
el Bl @ @ werw s @ weEn % v den @ fagm sy 9 Ffza w0 0 wmen gErE
foereft 21 wig ot 6 wlafen wmmrela (rerez), ol wrg % fawg q fee v sgd @R HEE w6

T, o oft wwfaa gt 2 - e % fou 9z 39 @ & favg 0 @ sea /2, 38 5w = S e,
FIH IHE VAN HA 8 3R SIYE G 9L dh Ak fd9shd ki o Faid fen S 21 wed gaee



7z 2 fob form fasmm wwifa | =08 sre g 2, @ difen = difem mawi @ gz fo@d ggar 2, 398 34
wig % fawa § safifea d=n @@ 2; w5 22 9% weay & gew w21 0 ot anafas gan g 9w
w6 fepranfem dmr=s & 21

Hiex Mgl & s fogm 24 favars oo &1 v & 2 fh e ggel @t off § sEa ffda 2
3t sifees favemdia 2; wiq @ @ fasmm md ) Fiaa § 9 g2 w1 SR Y #a 2, 9F 98 fag
#1771 7l f i i st e & gl Wy d o favam 94 2 eR % s s faenE o, R
stgaferd sefi arefl sz & uryfee fmio arefi ) 6 ara 2 2, w0 99 A gl w1 w2
fop w2 M 3" Ik 7w 2 - Fae 48 Feat 6 T8 39 6 fow 21 Fen & F9f B W e
ATl 12 ATE HdAHF TR dred 37 0T T FHH SO g 9icl J1ei & J19 HY 3 Hu foems wee-
2MEY eaeh defifas W fasmyE S 21 i sifa wiafesa 3eme 1 sragmon &1 sifa der o &
gy H Hafdd fen s 21 2 |n serew T i @ 9 syanfes 9E A ge s g1 wm Zefifas m
¥ IEWN %I A U TS I ¢ Hehd 2l

Ta I H Gl 3 dA FHA b SAfdded] H1 GV HA 6 foT0 FHa1 a1 2, q1 b gEomd
& a4 Ferrremes d 2 8| oI ITHiEAIs W g "sdl H Hataa vy, fHafad g=ni i gern o
Siafitaa - o s - (34 difsn 8 vfaga w=i) & sifus gama gz 2)

1970 @ 29re H S dicet uimEq wsiHl % gy ush fhargg s i foga ==l &l ot of woE %
e e & dehlel UgE Sl gedE St 2 H 3 Wd w0 9 - Uk el o S9R J5rsid
(TFTE2) & AL %I HIE-HIE gl 2

What do the advertisements do in addition to influencing the target consumers?

(1) Separate message for each consumer

(2) Send many isolated messages to all consumers

3) Separate vehicle from media

(4) Provide subtle messages about brand, media and programmes

dferd 9l 1 g 0 & Afdfe fawms #=n e #a 2
(1) & 3949191 & feru ger 35en - 3ier &

(2 wefl IS wd uUe Haw e

(3)  ifga 4 Higw &1 3 w0

(4)  wie, difsa sin FEwdi & fava § geu |99 yem
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2) Read the passage carefully and answer the question that follow:



The consumer can respond to an advertisement as an isolated stimulus, and different communications vehicles enable the
manufacturer to focus communication in a tailor-made way for each medium and even for each vehicle. However, the
consumer's response is also affected by a gestalt, the sum of many communications about the brand-for example, by what
he or she knows of it, where it is sold, who uses it, and how it is promoted to the trade and the consumer. Most important,
there is an implicit communication about the brand in the advertising company it keeps, in the media and media vehicles in
which it appears; to a large extent, the medium is indeed the message. Yet dissonance of all types is only too common in
the real world.

An automobile advertisement tries to persuade us that the brand is now better built and more reliable than ever before; at
the same time, the advertisement offers a massive price rebate, as if to demonstrate that the manufacturer does not
believe its own quality claims. Another car advertisement, for an exceedingly traditional make of automobile with dated
styling, tries to persuade younger buyers that the car is now for them-simply by saying that it is now for them. A highly
exclusive brand focused on the upper end of its market runs advertisements on prime-time network television, shoulder to
shoulder with the most undiscriminating mass-market brands. A highly sophisticated product concept is promoted in
advertisements of stupefying banality. These instances are in no way exceptional. We can see these and similarly
disheartening examples on television virtually every evening.

When consumers are asked to describe the personalities of well-known banks and gasoline companies, these impressions turn
out to be uniformly negative. The implicit-but of course unintended-communications about these organizations (e.g.,
unfavorable mentions in the media) clearly influence consumers more than do the explicit, planned communications.

During the 1970s, a parable was circulated widely within the J. Walter Thompson agency and presented engagingly by
Jeremy Bullmore, then head of the agency's London office-a parable that illustrates vividly the meaning of communications
gestalt.

ferefl ferstroa &6t weprehl 3diua 2 w9 4 era Iuviadl i ufafsn @ wedl 2 s HeEm & fas-fus
el B i 1 ' wiegn 3 @ sy & fou gEn w1 faem = @ Hfga e O mye were
foerdl 21 wq Iusiign 6 wfafkn wmuld (reree), Il STe % fawg d fee o sga |1 HEE w6
Tk, ° oft wwfaa 2t 2 - e & fou 9z 39 @ & favg 0 @ s/ 2, 38 w5 = S 2,
I IHE YAF HIA1 2 HN SAYH 9 J9HTT dh I5eh s i HH Fafda fokn s 21 Hed gaeagel
Iz & & form fagmm wwifd | 0% w2 @@ 2, Tm difsan @ dfifsa wieA 4 9z foas us@ 2, 38 38
qie % fawn § s7afifea g=n @ 2; #rhl 2e % o & gew A 2 fis ot arsfas g § 9
v i Tersanfem wmr= € 21

Hiex M H v fasmea w6 favars feem &1 vam w2 6 g ged w9 S fafda 2
3 siferen faversfia 2; wg w4 fasrem wrdl ) Fga O 9 e w1 3EE YeE w2, g 3R fag
%1 77 7 T i &1 s e & gl W s A favam T 2 wn % s s T A0, fe
sryfer defl arefi sga d undfer fuio aref € fi wa A 2, F9 99 9 el S FasE S 2
foh 72 Wl 3@ 39k foiu 2 - hael 78 wEd 6 78 3@ 39 fow 21 9 & 9l 9 9 wisE w
ATl 12 ATS HdAE T dred 371 U1 T FHH A1 ¢4 9rel A1ei & WY FY 9 Hu fems wee-
2MEH Headh Caifaad T fasmE w21 i sifa wiafesa 3emme =1 staumon &1 sifa wamm faaE &
e | Fia fen s 21 3 5 g R fi o @ seEnies Ad #1 en oy s e Sefifaee w
1 ISR I A CH PRSI gd g 2

" IYATENIT O Al 3 de H9El & safaded & 9uiE wE & T e s 2, | 39l s
7 et ° Jhrrens & #dl 8| ored: IUdEsl WS wed d gafya oe, FEad g=9r i gern 4
Siafifaa - b s - (38 difsan 4 vfaga w=i) & sifus g gz 21

1970 % g9r U 5 Jieed dfned vl & 3 v fmrge s 6 famga == @l o s oo &
e HETEE & dehle TqE S gAHR STEYE 2 H 36 Wqd #d 4 - Uk S S9R J5arsid
(ETe2) % AY HI HIH-HTE gurl 2



Why is dissonance prevalent among the consumers?
(1) Wrong messages about prices

(2) Wrong messages about product

3) Medium’s unsuitability

(4) Exposition to contrary messages in advertisements

a3l 8 fowarfen @i wafaa 27
(1) el & favy O Terd w29
(2)  3rE & favg O e wem

(3) Hreay &l AT
(4)  fasmai 4 faufia Geui &1 s9a 291
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3) Read the passage carefully and answer the question that follow:

The consumer can respond to an advertisement as an isolated stimulus, and different communications vehicles enable the
manufacturer to focus communication in a tailor-made way for each medium and even for each vehicle. However, the
consumer's response is also affected by a gestalt, the sum of many communications about the brand-for example, by what
he or she knows of it, where it is sold, who uses it, and how it is promoted to the trade and the consumer. Most important,
there is an implicit communication about the brand in the advertising company it keeps, in the media and media vehicles in
which it appears; to a large extent, the medium is indeed the message. Yet dissonance of all types is only too common in
the real world.

An automobile advertisement tries to persuade us that the brand is now better built and more reliable than ever before; at
the same time, the advertisement offers a massive price rebate, as if to demonstrate that the manufacturer does not
believe its own quality claims. Another car advertisement, for an exceedingly traditional make of automobile with dated
styling, tries to persuade younger buyers that the car is now for them-simply by saying that it is now for them. A highly
exclusive brand focused on the upper end of its market runs advertisements on prime-time network television, shoulder to
shoulder with the most undiscriminating mass-market brands. A highly sophisticated product concept is promoted in
advertisements of stupefying banality. These instances are in no way exceptional. We can see these and similarly
disheartening examples on television virtually every evening.

When consumers are asked to describe the personalities of well-known banks and gasoline companies, these impressions turn
out to be uniformly negative. The implicit-but of course unintended-communications about these organizations (e.g.,
unfavorable mentions in the media) clearly influence consumers more than do the explicit, planned communications.

During the 1970s, a parable was circulated widely within the J. Walter Thompson agency and presented engagingly by
Jeremy Bullmore, then head of the agency's London office-a parable that illustrates vividly the meaning of communications
gestalt.

fefeiiiga #1=a7 1 TgHL T9 1 I ¢ -

ol fersirom 61 weptehl 3EI9A % w9 6 Sie IuvTea I uldfsen @ Wl @ i s & fam-fae
el B i %1 8 miegn 3R @ #E%y & fou gen w1 fasm = @ Hfga s 9 e were
foerdt 81 utq gusign 1 wfdafen wgnurgta (freeree), o wre % fawg 4 feu o agd @ gEni w6
arrger, | oft wnfaa gl 2 - Jers % oo ag 39 w@ie & fawy O @ sean/d 2, 38 @ 3= 9 2,



HH IHE TG FAAI 2 SR SN 9 IUGE q I ad Hl HH Fafda fem wren 21 gl wgeayi
77 & for T Tagmom wnfa 4 =618 g @ 2, o difen @ difen el O 9 foand gea 2, 398 39
are & fava 4 safifea d=m 2m 2; whl ag 9 weay & dgn g 21 e off ardfas qom g 4
Wb 1 Toanfe |mma 2 2

drer Ml &1 ush famm wl favars feem & vam & 2 T g geet o ofi 4 gea fafida 2
3t i favamfia 2; wiq @y & fasrem wd F Fiua § 9 e w1 FEE 9eH a2, oHE 92 fig
#1781 &l fob fmien w1 stof aprae < gl W d favam 94 210 wR % s s faenga O, e
sAy=fera el arefl sgd 7 gRafe i ol mE i 9@ a2, $9 39 9 aEdl S aHsE S
foh 72 Ml 31@ 9 0 2 - Fael 9= FEH 6 27 1@ 9 fo B AR & S SR W e w0
ATl k1S §Te Hidafeh FTr el R UET W SAH ¢ dicd q1Sl b @19 S § el fere grgn-
2y Jeadh Cofifaaa w fasmym getran 21 foddi sifa wfafesa 3eme 1 sraemon &1 sifa wamm fasm &
ieag | wafdd fHa S 21 3 wn IeE i i @ 9 staantes T8 21 89 W 7 9 Sefifae W
4 FErEl b1 91 TH e I qE whd

E IIAEAS] W Gl 3 T FIE o AT H1 GV O h [0 FHE Tl 2, ql I FEomd
& Ffa 4 Fenrreges &l 2l &) orsed: IudiEIs W g |Sdl H Hetaa wyse, faifad w=nl i g o
siatfed - fobg sfanfya—w=mi (39 difsn 4 vfaga ==i) &1 sifus g9E gga 21

1970 % 23/ H o afeet dived voEl % 37et v femre s i foega == 2l o sl o %
FeA HITTd & dehleli Y S qeHR 3TN @1 H §9 WEd &d U - Uk w9l 7 FEH HErefd
(F2iez) & 9 & Jr%-H1h <l 2

What was the inner message of the first advertisement narrated in the passage?
(1) The manufacturer did not believe what that advertisement said

(2) The automobile in strongly built

3) The discount on the price is good

(4) The new vehicle is unique

e § afufa geel fasmeR @ ffea dew @0 e
(1) i 1 fasmea 8 @ 08w favars T8
@ e % Fi w2

(3)  FHma w s ge 4 R

@ il srgE 2
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4) Read the passage carefully and answer the question that follow:

The consumer can respond to an advertisement as an isolated stimulus, and different communications vehicles enable the
manufacturer to focus communication in a tailor-made way for each medium and even for each vehicle. However, the

consumer's response is also affected by a gestalt, the sum of many communications about the brand-for example, by what
he or she knows of it, where it is sold, who uses it, and how it is promoted to the trade and the consumer. Most important,



there is an implicit communication about the brand in the advertising company it keeps, in the media and media vehicles in
which it appears; to a large extent, the medium is indeed the message. Yet dissonance of all types is only too common in
the real world.

An automobile advertisement tries to persuade us that the brand is now better built and more reliable than ever before; at
the same time, the advertisement offers a massive price rebate, as if to demonstrate that the manufacturer does not
believe its own quality claims. Another car advertisement, for an exceedingly traditional make of automobile with dated
styling, tries to persuade younger buyers that the car is now for them-simply by saying that it is now for them. A highly
exclusive brand focused on the upper end of its market runs advertisements on prime-time network television, shoulder to
shoulder with the most undiscriminating mass-market brands. A highly sophisticated product concept is promoted in
advertisements of stupefying banality. These instances are in no way exceptional. We can see these and similarly
disheartening examples on television virtually every evening.

When consumers are asked to describe the personalities of well-known banks and gasoline companies, these impressions turn
out to be uniformly negative. The implicit-but of course unintended-communications about these organizations (e.g.,
unfavorable mentions in the media) clearly influence consumers more than do the explicit, planned communications.

During the 1970s, a parable was circulated widely within the J. Walter Thompson agency and presented engagingly by
Jeremy Bullmore, then head of the agency’s London office-a parable that illustrates vividly the meaning of communications
gestalt.

fopafi fasiom <61 waprehl S o =9 6 o I9vie 1 wfdfwn 2 wedt 2 s wer % fas-fus
el | fafan @l w1 meay s # weiE & fau gen &l fagm ww 8 dfga w0 0w s2raE
foerefl 21 wq Iudiem 6 gl wmueld (reee), o STe % fawa 4 fee v sga w1 HEEE
T, o oft wwfaa gt 2 - e % fou 97 39 @ & favg O @ s /2, 38 5w = S e,
FH I TN Al 2 IR SN 9 9T s I8k fasa w1 F4 wafda fem e 21 ged geeagl
a7 ¢ T fog fagnmm gufa 4 <2 sg war 2, fa difgm @ difss w0 9z fogg gear 2, 399 39
qre ¥ fawn § safifza g2 @ 2; #1hl 2e % e & gew a2 fe ot anrsfas ge § G
wehR 6 fesarfem dm= € 2

Hrex MEl &1 U fagme g4 favars oo &1 v & 2 f6 @ 95at et o ¥ s Gl 2
3t siferes favemia 2; wq @y A fasmm M 6 Faa § 9 @ w1 S TeE Fa 2, 9F 92 fag
#1177 b fwtan #1 s e & e[l W = d favam T8 20 R 6 UE 5 e |, e
stgafrd Stefi arefl sza & i fmio arefi el 6 ama 2 2, w0 39 9 g g 9w 2
fop 2 Ml 31 Ik o 2 - Fad g7 wEH 6 2R s 39 faw 21 AR & el 9 W s
ATl 1S d1g HIdATeh aTT el AR [UET W SH ¢ il J1Sl & W1 HE d el e argn-
2R deEh ceitaad T fasma St 71 i sifa whafesa 3eme 1 sraygmon &1 sifa wramm famE &
mieay | Hafdd fea 21 3 | IerE i o we | starfes A4 21 89 WIE: ' 9 Selfae W
& Jaril 1 A T A s SgE gE a2

e IYATFENIT O Al 3 T 9l & sufede & 9w & fe wE S 8, A 39 s
7 et o Jhrreas & 2l 81 ored: el W 3 TSl § gafya o2, Ftad g=n i gem o
srafifea - fog sl s (39 difea 8 gfagpe ==i) @ sfus gaE gzar 2)

1970 @ /b H S dfcet UTedA Ul o e U foigmie & i fovga ==l adl ot 3t usie &
e HETEE & dehlela Tq@ Sl g STEYE 21 H 36 Wqd Fd 9 - Uk S o H9R Jhrsd
(RRTE2) & HY | HIE-HIE gl 2

How do the media organizations devalue the advertisements they present?

(1) By charging for advertisements



(2) By permitting different brands to advertise simultaneously
3) By presenting negative news about the organisation sponsoring the advertisement
(4) By not having separate time slots

Hifear H@iTed 30 Wedd [ 1 STEyead hH i A7

(1 Tasmi %1 gm e

(2)  SERI-3E Fiel & Uk A w19 fasE o i osEafa g o

(3)  fasoel =6yt & aret #eA1 T § FEHEeTs SR WEd 6

(4) T % - E@id 4 TEE
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5) Read the passage carefully and answer the question that follow:

The consumer can respond to an advertisement as an isolated stimulus, and different communications vehicles enable the
manufacturer to focus communication in a tailor-made way for each medium and even for each vehicle. However, the
consumer's response is also affected by a gestalt, the sum of many communications about the brand-for example, by what
he or she knows of it, where it is sold, who uses it, and how it is promoted to the trade and the consumer. Most important,
there is an implicit communication about the brand in the advertising company it keeps, in the media and media vehicles in
which it appears; to a large extent, the medium is indeed the message. Yet dissonance of all types is only too common in
the real world.

An automobile advertisement tries to persuade us that the brand is now better built and more reliable than ever before; at
the same time, the advertisement offers a massive price rebate, as if to demonstrate that the manufacturer does not
believe its own quality claims. Another car advertisement, for an exceedingly traditional make of automobile with dated
styling, tries to persuade younger buyers that the car is now for them-simply by saying that it is now for them. A highly
exclusive brand focused on the upper end of its market runs advertisements on prime-time network television, shoulder to
shoulder with the most undiscriminating mass-market brands. A highly sophisticated product concept is promoted in
advertisements of stupefying banality. These instances are in no way exceptional. We can see these and similarly
disheartening examples on television virtually every evening.

When consumers are asked to describe the personalities of well-known banks and gasoline companies, these impressions turn
out to be uniformly negative. The implicit-but of course unintended-communications about these organizations (e.g.,
unfavorable mentions in the media) clearly influence consumers more than do the explicit, planned communications.

During the 1970s, a parable was circulated widely within the J. Walter Thompson agency and presented engagingly by
Jeremy Bullmore, then head of the agency's London office-a parable that illustrates vividly the meaning of communications
gestalt.

ol famom 1 warhl 39A % w9 1 o IudiE 1 gfafswmn @ wed R i gen % fam-fie
e B ot @ 2 ey i & wrEwn & T dem @ faim vy @ FfE w0 e g
foerdt 21 wiq gudigan i wlafwn wnursla (reree), arf wrg % fawg § fee v gga @R HEr w6
Tk, o wwifad gl 8 - e & fou 9r 39 we & fawg O @ Sea /2, 30 &R = A e,
% IHE TEF FIA 2 R AN 9 IUE q% 35k e & B4 dafda fen s 21 gan gaeag
77 2 T fog fasmm oorfa O =618 sre wwar 2, o difen @ dfifsn memi 0 9z foeng year 2, 399 39
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What is communication gestalt?

1) The qualities of an advertisement

(2) Impression made by all the advertisements and communication about a product
3) Combination of components in a programme

(4) Time - frame when all ads are telecast in a programme.

HER AR () #1127

(1)  ferdfl fasmom &

2 ol 3eag & wedfi fagmoai i = 9 v 9refi 3

(3)  Tordll Frisn 4 Hewi &1 G
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[Question ID = 3038][Question Description = Q100_MassComJourn_SHAAN_20NOV21_S1_Shift2]
1. 1

[Option ID = 11615]
2.2

[Option ID = 11616]
3.3

[Option ID = 11617]
4. 4

[Option ID = 11618]

Topic:- GP_Set2_C
1) Read the passage carefully and answer the question that follow

India is one of the world’s largest repositories of music, dance, theatre, folk traditions, songs, performing arts, rites and
rituals, paintings and writings that are known, collectively as ‘‘Intangible Cultural Hertiage’’. India’s cultural heritage is a
source of inspiration to people everywhere. India’s century old cultural exchanges with South East Asia continue to inspire
people-to-people relationships. There is a visible impact of the Indian heritage on the scriptures and the way of life of the
people of the Mekong region. There is deep conviction about the Buddhist traits of humility, gentleness, justice and charity.
There are many similarities in languages of the region and Sanskrit. The Panchtantra and Jataka tales are narrated with
great enthusiasm and are part of folklore. The Ramayan culture is visible all across South East Asia.

The common culture binding India with South East Asian Countries apart from Buddhism is the great epic of Ramayana.
Angkor Wat has the great Ramayana Panel depicting the battle between Vanaras and the Asuras. SAARC remains an
important component of India’s cultural diplomacy representing multilateralism and people to people contacts. People to
people exchanges are being promoted amongst the BRICS countries with the BRICS Culture Ministers meetings laying down



the road map for collaboration. Cultural exchanges amongst the Member Nations of the Shanghai Cooperation Organisation is
also being actively promoted in the fields of tourism, education, science, archeology, music, dance and yoga.

India’s soft power status varies with the regions. In South East Asia, Buddhism links India to the people of the region.

In the Indian Ocean countries, Project Mausam (the monsoon) linked the people to common traits. There are several new
links that have emerged - cricket ties with Australia and South Africa represented by Cricket connects exhibitions. The
theoretical framework for the formulation of India’s soft power status is best represented in the Government’s new ideas -
Digital India, Business Promtion, Yoga Diplomacy.

UNESCO has also focused on building Peace through Cultural Diplomacy. The influence of - Mahatma Gandhi. Nelson Mandela
and Martin Luther King Jr around the world, and the popularity of their ideas of harmonious co-existence amongst various
layers of society is considerable.
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India’s cultural diplomacy is centered around
(A) Ramayan
(B) Multilateral engagements
(C) Business Promotion
(D) People to people contacts
Choose the correct answer from the options given below :
(1) (A) and (D) only  (2) (A), (C) and (D) only

(3) (B), (C) and (D) only (4) (B) and (D) only



(B) wEEAtE-aTTEY
(C) =mr-wada
(D) At T

I f2u 0 fa=egi § § 991 39 &) =999 Fiee

(1)  Fad (A) #7 (D)
(2) =& (A), (C) 3T (D)
(3) A (B), (C) =1 (D)

(4) =& (B) 3 (D)

[Question ID = 3557][Question Description = Q46_GP_20NOV_S2_SHAAN_Shift2]
1.1

[Option ID = 13691]
2.2

[Option ID = 13692]
3.3

[Option ID = 13693]
4. 4

[Option ID = 13694]
2) Read the passage carefully and answer the question that follow

India is one of the world’s largest repositories of music, dance, theatre, folk traditions, songs, performing arts, rites and
rituals, paintings and writings that are known, collectively as ‘‘Intangible Cultural Hertiage’’. India’s cultural heritage is a
source of inspiration to people everywhere. India’s century old cultural exchanges with South East Asia continue to inspire
people-to-people relationships. There is a visible impact of the Indian heritage on the scriptures and the way of life of the
people of the Mekong region. There is deep conviction about the Buddhist traits of humility, gentleness, justice and charity.
There are many similarities in languages of the region and Sanskrit. The Panchtantra and Jataka tales are narrated with
great enthusiasm and are part of folklore. The Ramayan culture is visible all across South East Asia.

The common culture binding India with South East Asian Countries apart from Buddhism is the great epic of Ramayana.
Angkor Wat has the great Ramayana Panel depicting the battle between Vanaras and the Asuras. SAARC remains an
important component of India’s cultural diplomacy representing multilateralism and people to people contacts. People to
people exchanges are being promoted amongst the BRICS countries with the BRICS Culture Ministers meetings laying down
the road map for collaboration. Cultural exchanges amongst the Member Nations of the Shanghai Cooperation Organisation is
also being actively promoted in the fields of tourism, education, science, archeology, music, dance and yoga.

India’s soft power status varies with the regions. In South East Asia, Buddhism links India to the people of the region.

In the Indian Ocean countries, Project Mausam (the monsoon) linkded the people to common traits. There are several new
links that have emerged - cricket ties with Australia and South Africa represented by Cricket connects exhibitions. The
theoretical framework for the formulation of India’s soft power status is best represented in the Government’s new ideas -
Digital India, Business Promtion, Yoga Diplomacy.

UNESCO has also focused on building Peace through Cultural Diplomacy. The influence of - Mahatma Gandhi. Nelson Mandela
and Martin Luther King Jr around the world, and the popularity of their ideas of harmonious co-existence amongst various
layers of society is considerable.
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The common thread binding India and South East Asian Countries is/are
(A) Buddist tenets

(B) Yoga

(C) Cricket

(D) Ramayan

(E) Sanskrit

Choose the correct answer from the options given below :

(1) (A) only (2) (A), (B), (C) and (D) only

(3) (A) and (D) only (4) (A), (B), (D) and (E) only

R TH - - % W HE - s #

(A) g
(B) =im
(C) Toere
(D) IHET
(E) @eFd

== fau T Tl ° 5 wWE 3 F 1 =EE i

(1) =4 (4) (2) === (A). (B). (C) #R (D)
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(3) el (A) AR (D) (4) =Ha« (A). (B) 311 (E)

[Question ID = 3558][Question Description = Q47_GP_20NOV_S2_SHAAN_Shift2]
1 [Option ID = 13695]
2 [Option ID = 13696]
3 [Option ID = 13697]
4 [Option ID = 13698]
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3) Read the passage carefully and answer the question that follow

India is one of the world’s largest repositories of music, dance, theatre, folk traditions, songs, performing arts, rites and
rituals, paintings and writings that are known, collectively as ‘‘Intangible Cultural Hertiage’’. India’s cultural heritage is a
source of inspiration to people everywhere. India’s century old cultural exchanges with South East Asia continue to inspire
people-to-people relationships. There is a visible impact of the Indian heritage on the scriptures and the way of life of the
people of the Mekong region. There is deep conviction about the Buddhist traits of humility, gentleness, justice and charity.
There are many similarities in languages of the region and Sanskrit. The Panchtantra and Jataka tales are narrated with
great enthusiasm and are part of folklore. The Ramayan culture is visible all across South East Asia.

The common culture binding India with South East Asian Countries apart from Buddhism is the great epic of Ramayana.
Angkor Wat has the great Ramayana Panel depicting the battle between Vanaras and the Asuras. SAARC remains an
important component of India’s cultural diplomacy representing multilateralism and people to people contacts. People to
people exchanges are being promoted amongst the BRICS countries with the BRICS Culture Ministers meetings laying down
the road map for collaboration. Cultural exchanges amongst the Member Nations of the Shanghai Cooperation Organisation is
also being actively promoted in the fields of tourism, education, science, archeology, music, dance and yoga.

India’s soft power status varies with the regions. In South East Asia, Buddhism links India to the people of the region.

In the Indian Ocean countries, Project Mausam (the monsoon) linkded the people to common traits. There are several new
links that have emerged - cricket ties with Australia and South Africa represented by Cricket connects exhibitions. The
theoretical framework for the formulation of India’s soft power status is best represented in the Government’s new ideas -
Digital India, Business Promtion, Yoga Diplomacy.

UNESCO has also focused on building Peace through Cultural Diplomacy. The influence of - Mahatma Gandhi. Nelson Mandela

and Martin Luther King Jr around the world, and the popularity of their ideas of harmonious co-existence amongst various
layers of society is considerable.
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Which of the following is not reflective of India’s soft power status?
(1) Digital India  (2) Skill India

(3) Business Promotion (4) Yoga Diplomacy

fafefias 9 o #17 uwa 6 93 wiw-frufa 1 weffa 181 w27
()  fsfae= =fem (2) T YA
(3)  =AR-wEEA (4) =AM-FAfa

[Question ID = 3559][Question Description = Q48_GP_20NOV_S2_SHAAN_Shift2]
1 [Option ID = 13699]
2 [Option ID = 13700]
3 [Option ID = 13701]
4 [Option ID = 13702]
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4) Read the passage carefully and answer the question that follow

India is one of the world’s largest repositories of music, dance, theatre, folk traditions, songs, performing arts, rites and
rituals, paintings and writings that are known, collectively as ‘‘Intangible Cultural Hertiage’’. India’s cultural heritage is a
source of inspiration to people everywhere. India’s century old cultural exchanges with South East Asia continue to inspire
people-to-people relationships. There is a visible impact of the Indian heritage on the scriptures and the way of life of the
people of the Mekong region. There is deep conviction about the Buddhist traits of humility, gentleness, justice and charity.
There are many similarities in languages of the region and Sanskrit. The Panchtantra and Jataka tales are narrated with
great enthusiasm and are part of folklore. The Ramayan culture is visible all across South East Asia.

The common culture binding India with South East Asian Countries apart from Buddhism is the great epic of Ramayana.
Angkor Wat has the great Ramayana Panel depicting the battle between Vanaras and the Asuras. SAARC remains an
important component of India’s cultural diplomacy representing multilateralism and people to people contacts. People to
people exchanges are being promoted amongst the BRICS countries with the BRICS Culture Ministers meetings laying down
the road map for collaboration. Cultural exchanges amongst the Member Nations of the Shanghai Cooperation Organisation is
also being actively promoted in the fields of tourism, education, science, archeology, music, dance and yoga.

India’s soft power status varies with the regions. In South East Asia, Buddhism links India to the people of the region.

In the Indian Ocean countries, Project Mausam (the monsoon) linkded the people to common traits. There are several new
links that have emerged - cricket ties with Australia and South Africa represented by Cricket connects exhibitions. The
theoretical framework for the formulation of India’s soft power status is best represented in the Government’s new ideas -
Digital India, Business Promtion, Yoga Diplomacy.

UNESCO has also focused on building Peace through Cultural Diplomacy. The influence of - Mahatma Gandhi. Nelson Mandela

and Martin Luther King Jr around the world, and the popularity of their ideas of harmonious co-existence amongst various
layers of society is considerable.
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Cultural exchanges amongst the member nations of the Shanghai Cooperation Organisation are in the following fields :
(A) Archeology

(B) Folklore

(C) Tourism

(D) Yoga

(E) Education

Choose the correct answer from the options given below :

(1) (A), (C), (D) and (E) only  (2) (A), (B), (C) and (E) only

(3) (A), (B) and (E) only (4) (B), (C), (D) and (E) only
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(A) e
(B) wrw-mIEe
(C) bz
(D) =M
(E) faam
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(1)  Faa (A). (C), (D) 3 (E) (2) %A (A), (B). (C) 3R (E)
(38)  hae (A), (B) # (E) (4) =ad (B). (C). (D) #R (E)

[Question ID = 3560][Question Description = Q49_GP_20NOV_S2_SHAAN_Shift2]
1 [Option ID = 13703]
2 [Option ID = 13704]
3 [Option ID = 13705]
4 [Option ID = 13706]
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5) Read the passage carefully and answer the question that follow

India is one of the world’s largest repositories of music, dance, theatre, folk traditions, songs, performing arts, rites and
rituals, paintings and writings that are known, collectively as ‘‘Intangible Cultural Hertiage’’. India’s cultural heritage is a
source of inspiration to people everywhere. India’s century old cultural exchanges with South East Asia continue to inspire
people-to-people relationships. There is a visible impact of the Indian heritage on the scriptures and the way of life of the
people of the Mekong region. There is deep conviction about the Buddhist traits of humility, gentleness, justice and charity.
There are many similarities in languages of the region and Sanskrit. The Panchtantra and Jataka tales are narrated with
great enthusiasm and are part of folklore. The Ramayan culture is visible all across South East Asia.

The common culture binding India with South East Asian Countries apart from Buddhism is the great epic of Ramayana.
Angkor Wat has the great Ramayana Panel depicting the battle between Vanaras and the Asuras. SAARC remains an
important component of India’s cultural diplomacy representing multilateralism and people to people contacts. People to
people exchanges are being promoted amongst the BRICS countries with the BRICS Culture Ministers meetings laying down
the road map for collaboration. Cultural exchanges amongst the Member Nations of the Shanghai Cooperation Organisation is
also being actively promoted in the fields of tourism, education, science, archeology, music, dance and yoga.



India’s soft power status varies with the regions. In South East Asia, Buddhism links India to the people of the region.

In the Indian Ocean countries, Project Mausam (the monsoon) linkded the people to common traits. There are several new
links that have emerged - cricket ties with Australia and South Africa represented by Cricket connects exhibitions. The
theoretical framework for the formulation of India’s soft power status is best represented in the Government’s new ideas -
Digital India, Business Promtion, Yoga Diplomacy.

UNESCO has also focused on building Peace through Cultural Diplomacy. The influence of - Mahatma Gandhi. Nelson Mandela
and Martin Luther King Jr around the world, and the popularity of their ideas of harmonious co-existence amongst various
layers of society is considerable.
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o F 9FA & AU HEn-fetaee ifem, Sun-waea AR Am-Fedia # 5 O ghayE w9 5 gme
T 7

{-iw_] : Hivﬂw AN % T I~ T SIF Hima T 2| 9ewa 7, eem gueen FHi aifee
W T Y R EEE i W W SRy #@E-daca # favasand e oS
Tt 27

The passage highlights

(1) The emergence of India as a super power

(2) The role of culture for peace and harmonious relations with other countries
(3) India’s cultural hegemony

(4) India’s relations with BRICS countries

TR A A

(1) Y4 = He9IGE % 9 § <5

(4)  HWA = {6 G W Ty
[Question ID = 3561][Question Description = Q50_GP_20NOV_S2_SHAAN_Shift2]
1 [Option ID = 13707]
2 [Option ID = 13708]

3 [Option ID = 13709]
4 [Option ID = 13710]

AN wnN -



Topic:- GP_Set2_A

1) Consider the following table that shows the percentage (%) distribution of the number of
Personal Computers (PCs) sold by a dealer from July to December-2019 and ratio between
the number of PCs zo0ld of HP and DELL companies during the same six months. Total
number of PCz sold in all these six months put together iz 45000. Based on the data
contained in the table, answer the question

Month-wise Distribution of Sale of PCs

Month Sale of PCs
Percentage (%) Ratio of
Distribution HP to DELL

July 17% 8.3
Auguat 22% 4:5
September 25% 3:2
October 8% Wk
November 12% i
December 16% 7:9

FreAitea Ao 1 w9 @ 20 Tomd v fagkan % g S=0E 2019 ° feomsw 2019 7% == o sl @
% foao &1 wfawmar @ HP @1 DELL #0af+=1 & @99 s1ata 7 ffia i @t % &= =1 oqgom
F9ET T 7| S arad | T gt G @ i 3 @e 45,000 (Farfow wAR) 21 e § fau o
HATHS o AR T UTH T I D

Tt worERT = AT - T v e

DELL i
FeATS 17% 8:7
BT 22% 4:5
T 25% 3:2
T 8% T:5
AT 12% 7:8
e 16% 7:9

What is the ratio of the number of PCs sold of Company DELL during July to those sold during December of the same
company?

(1) 119 : 145 (2) 116 : 135

(3) 119 : 135 (4) 119: 130

DELL %0t = g seis 331 faasn § s ffs woorst i g =0 sigar o= 27

(1) 119: 145 (2) 116:135
(3) 119:136 (4 119:130

[Question ID = 3562][Question Description = Q01_GP_20NOV_S2_SHAAN_Shift2]
1. 1 [Option ID = 13711]
2. 2 [Option ID = 13712]
3. 3 [Option ID = 13713]
4. 4 [Option ID = 13714]

2) Consider the following table that shows the percentaze (%) distribution of the number of
Personal Computers (PCs) sold by a dealer from July to December-2019 and ratio between
the number of PCs zo0ld of HP and DELL companies during the same six months. Total
number of PCs sold in all these six months put together iz 45000. Based on the data

Ll R R R e A A g PR e e e



s e b e e e g e e R e vt e e Tt B e e T S e i

Month-wise Distribution of Sale of PCs

Month Sale of PCs
Percentage (%) Ratio of
Distribution HP to DELL

July 17% 8:7
Augusat 22% 4:5
September 25% 3:2
October 8% 18
November 12% il
December 16% i)

feAifeRa Aifer 1 w9 ° 2d famd vk faghan & g 978 2019 ° faEmsw 2019 9% 5= 70 FH T
% faawo 1 ufaemar a1 HP @in DELL w21 % @9 wiatg 5 fafia Fef ot = s #1 smoa
ZoTR T 2| gt At W fhim wet Pl @R i we we 45,000 (FErfem wEw) 2| arfe | 2
TS F HTUR T 977 FH IH 3

DELL =i
TeTTE 17% 8:7
el e 22% 4:5
T 25% 32
Tz 8% 7:5
JaE 12% T8
Lt t==t 16% 7:9

If 35% of the PCs sold by Company HP during November were sold at a discount, then how many PCs of Company HP during
that month were sold without a discount?

(1) 882 (2) 1635

(3) 1638 (4) 885

ST FaEs # HP #091 % 356% ol wor gz wn s e o1 36 wde # HP we & e S s

forar w2 = == T ?

(1) 882 (2) 1635
(3) 1638 (4) 885

[Question ID = 3563][Question Description = Q02_GP_20NOV_S2_SHAAN_Shift2]
1. 1 [Option ID = 13715]
2. 2 [Option ID = 13716]
3. 3 [Option ID = 13717]
4. 4 [Option ID = 13718]

3) Consider the following table that shows the percentage (%) distribution of the number of
Personal Computers (PCs) sold by a dealer from July to December-2019 and ratio between
the number of PCs z0ld of HP and DELL companies during the same six months. Total
number of PCs sold in all these six months put together is 45000. Based on the data
contained in the table, answer the question

Month-wise Distribution of Sale of PCs

Month Sale of PCs
Percentage (%) Ratio of
Distrmbution HP to DELL



July 17% 8:7
Augusat 22% 4:5
September 25% 3:2
October 8% ik
November 12% il
December 16% A

feAifeRe anfern =1 w9 © 2 faad ush faghar & grr gems 2019 9 faEmst 2019 9% 5= 7o FHsft Foe
% faawo 1 ufawmar a1 HP @in DELL w21 % @9 wiatg 5 fafia Fef oot = o= #1 smoa
ZTR T 2| g At W fhm we P @R i we we 45,000 (S wEw) 2| arfer | 2
ST = ATYR T U9 = I 3

DELL =i
JeTE 17% 8:7
ST 22% 4:5
foamm 2b% 5 e
Tz 8% 7:5
HaE 12% T8
fommm 16% 7:9

If the dealer earned a profit of Rs. 433 on each PC sold of Company DELL during October, then what was his total profit
earned on the PCs of that company during the same month?

(1) 6,49,900 (2) 6,45,900

(3) 6,49,400 (4) 6,49,500

3R sz & 2= DELL Fe0et = fasear 3 s ffF @ @0 %, 433 %1 @y o o @1 =9 wEA

a :: ’i“E EF-‘F F\: l-i w i E ?

(1) £ 6.49.900 (2) ¥6.45.900
(3) 16.49.400 (4) ¥6,49.500

[Question ID = 3564][Question Description = Q03_GP_20NOV_S2_SHAAN_Shift2]
1. 1 [Option ID = 13719]
2. 2 [Option ID = 13720]
3. 3 [Option ID = 13721]
4. 4 [Option ID = 13722]

4)  Consider the following table that shows the percentage (%) distribution of the number of
Personal Computers (PCs) sold by a dealer from July to December-2019 and ratio between
the number of PCs zo0ld of HP and DELL companies during the same six months. Total
number of PCs sold in all these six months put together is 45000. Based on the data
contained in the table, answer the question

Month-wise Distribution of Sale of PCs

Month Sale of PCs
Percentage (%) Ratio of
Distribution HP to DELL

July 17% 8.1
Auguat 22% 4:5
September 25% g
October 8% W
November 12% i




| December 16% | i) |

feAifeRe anfern =1 w9 © 2 faad ush faghar & grr gems 2019 9 faEmst 2019 9% 5= 7o FHsft Foe
% faawo 1 ufawmar a1 HP @in DELL w21 % @9 wiatg 5 fafia Fef oot = o= #1 smoa
FaItEr T 7| g et | e adt sl gt i s we 45,000 (darfem wew) ) Ao | fag e
ST = ATYR T U9 = I 3

DELL =i
JeTE 17% 8:7
ST 22% 4:5
foamm 2b% 5 e
Tz 8% 7:5
HaE 12% T8
fommm 16% 7:9

The number of PCs sold of Company HP during July is approximately what percent (%) of the number of PCs sold of Company
HP during December?

(1) 110% (2) 140%

(3) 150% (4) 130%

SE F e § HP FUHT % 5w T 5 T $ 5 TEen F 9EH § HP e & gEn e

e . + fas r A
T SR =1 HEAT R TR WG9 5 ¢

(D 110% (2)y 140%
(3) 150% (4) 130%

[Question ID = 3565][Question Description = Q04_GP_20NOV_S2_SHAAN_Shift2]
1. 1 [Option ID = 13723]
2. 2 [Option ID = 13724]
3. 3 [Option ID = 13725]
4. 4 [Option ID = 13726]

5) Consider the following table that shows the percentage (%) distribution of the number of
Personal Computers (PCs) sold by a dealer from July to December-2019 and ratio between
the number of PCs z0ld of HP and DELL companies during the same six months. Total
number of PCs sold in all these six months put together 1z 45000. Based on the data
contained in the table, answer the question

Month-wise Distribution of Sale of PCs

Month Sale of PCs
Percentage (%) Ratio of
Distribution HP to DELL

July 17% 8:7
Auguat 22% 4:5
September 25% e
October 8% ih
November 12% il
December 16% e

freAifene afern 1 w2 © 2 fogd sk faghar = gy genrs 2019 ° f2amsw 2019 9% == 7o Fsft g

= S F 0T = HP 5T DET T 00 o o009 155057 o B 55 omoee = e o e



FaItEr T 7| g et | e adt sl gt i s we 45,000 (darfem wew) ) Ao | fag e
ST = ATYR T U9 = I 3

Tereeon =y e HP it

DELL =i
JeTE 17% 8:7
ST 22% 4:5
foamm 2b% 5 e
Tz 8% 7:5
AT 12% T8
fommm 16% 7:9

What is the total number of PCs sold by Company DELL during August and September together?
(1) 10000 (2) 15000
(3) 10500 (4) 9500

3T e foarss g 7EA § DELL =001 = giT s 710 e {si doore =i a1 7 7

(1) 10000 (2) 15000

(3) 10500 (4) 9500

[Question ID = 3566][Question Description = Q05_GP_20NOV_S2_SHAAN_Shift2]
1.1

[Option ID = 13727]
2.2

[Option ID = 13728]
3.3

[Option ID = 13729]
4. 4

[Option ID = 13730]

Topic:- GP_Set2_B

1) In which level of teaching promotion of critical thinking is the hall mark?
(1) Memory level (2) Understanding level
(3) Reflective level (4) Autonomous development level

forem & Torm T T STTeTaToAss Tomad & 3999 &1 oS8 e ol 8 7

() A (2) FFEY T
(3) Tamefi-fo == (4) w@EE fawm =

[Question ID = 3567][Question Description = Q06_GP_20NOV_S2_SHAAN_Shift2]
1. 1 [Option ID = 13731]
2. 2 [Option ID = 13732]
3. 3 [Option ID = 13733]
4. 4 [Option ID = 13734]

2) The key behaviour of an effective teacher is marked by which of the following features? (A) Structuring (B) Teacher
task orientation (C) Instructional Variety (D) Lesson clarity (E) Probing Choose the correct answer from the options given
below :

(1) (A), (B) and (C) only  (2) (A), (C) and (D) only



(3) (B), (C) and (D) only (4) (C), (D) and (E) only

frefefaa faforeaet ® 5 =19 =1 =qasn w9E s =1 99w T 2 7
(A) =

(B) Torerm—=rd-qairagui=or

(C) 3 fafagan

(D) wB-FaEaT

(E) vzams

= fam T et # @ = I R == i

(1) == (A), (B) 37 (C)
(2) @A (A). (C) 37 (D)
(3) == (B). (C) 377 (D)
(4)  Fa (C). (D) 37 (E)

[Question ID = 3568][Question Description = Q07_GP_20NOV_S2_SHAAN_Shift2]
1. 1

[Option ID = 13735]
2.2

[Option ID = 13736]
3.3

[Option ID = 13737]
4. 4

[Option ID = 13738]

3) Match List | with List Il gives their characteristic features.

List | List Il

(Modes of Evaluation) (Characteristic Features)

(A) Formative Evaluation () Compares one student with another student

(B) Summative Evaluation (lI) Compares the progress of a student against prespecified standards

(C) Criterion-referenced Evaluation (lll) Used primarily for motivational and monitoring purposes of learning
(D) Norm-referenced Evaluation (IV) Used primarily for gradation of progress made

Choose the correct answer from the options given below :

(1) (A)-(IV), (B)-(llD), (C)-(1), (D)-(I1)  (2) (A)-(lI), (B)-(IV), (C)-(I), (D)-(I)

(3) (A)-(I1), (B)-(1), (C)-(li), (D)-(IV)  (4) (A)-(), (B)-(11), (C)-(IV), (D)-(l)

g1 % =1y g1 1 e Fifae) v g= gerns i fatem aglen 2, =25 @i 9= s e
=T H1 2| H-1 vF g1 e

L FAII
(A) T g () = Toeneft i go feneff @ gon = 2
(B) TFeHTEF TeATHA () % faenefi i g 9@ foife = @
AT 2|
(C) T wafia geara (IIT) wowa: =iferm < sfauom o sgyam %
ECAREE
(D) W FEEd goar (AV) uyma: foms wifa & Ao #q TgE
B 2|

e fou v foereTt | | E 39 7 959 it

1 (A)-AV). (B)-ID). (C)-(I). (D)«(I)
(2)  (A)-ID), (B)-IV). (C)-(ID), (D)-(T)
(3)  (A)-AD, B)-(D). (C)«(IID). (D)-AV)



(4) (A)-(D). (B)-(II). (C)-(IV), (D)-(I1I)

[Question ID = 3569][Question Description = Q08_GP_20NOV_S2_SHAAN_Shift2]
1. 1 [Option ID = 13739]
2. 2 [Option ID = 13740]
3. 3 [Option ID = 13741]
4. 4 [Option ID = 13742]

4) Given below are two statements :

Statement | : One of the basic principles of progressive view of teaching is that education should be life itself rather than a
preparation for living.

Statement Il : According to reconstructionist view of education the new social order must be ‘genuinely democratic’.
In the light of the above statements, Choose the correct answer from the options given below :

(1) Both Statement | and Statement Il are true. (2) Both Statement | and Statement Il are false.

(3) Statement | is true but Statement Il is false. (4) Statement | is false but Statement Il is true.

F7 (D) : foremm & wmedt (wifaeiier) Zfewmr w8 v gewa fagea @ TR fen Feaw ot
dart 7E wifug =2 w9 @ ® geg SfE = =t

Fo (I1) : foren & yAfaEETE fEm g % sgan = gty sgewn ffvee =0 A gemaite
_F-.ﬁ:ﬁ 2 EQ gt

I FH F ATEF H, = 5 T e 9 O wEr I o = i

(1) =2 (D) &R () 34 79 &
(2) w9 (1) 31 (ID) 2 70T &

(3) Ty (D) §eF 2, =it w9 (1) 5T 2

(4) = (I) w8 2, = %9 (1) 703 2

[Question ID = 3570][Question Description = Q09_GP_20NOV_S2_SHAAN_Shift2]
1. 1 [Option ID = 13743]
2. 2 [Option ID = 13744]
3. 3 [Option ID = 13745]
4. 4 [Option ID = 13746]

5) Given below are two statements : One is labeled as Assertion A and the other is labeled as Reason R.

Assertion (A) : ‘Teaching’ involves critical and creative interchanges between teacher and learner and hence it is different
from ‘instruction’ and ‘training’.

Reason (R) : Both ‘instruction’ and ‘training’ are directed at lower order cognitive interchanges.

In the light of the above statements, Choose the most appropriate answer from the options given below :

(1) Both (A) and (R) are correct and (R) is the correct explanation of (A). (2) Both (A) and (R) are correct but (R) is NOT
the correct explanation of (A).

(3) (A) is correct but (R) is not correct. (4) (A) is not correct but (R) is correct.

#a 31 FuR 50 0 F ;o uw Al (Assertion A) % ¥ ® f@fad # @ 50 3WF F00 (Reason R) &
ETH :

AR (A) foeqm, e vd ATHTEEAl % HEY HHISTEHS UH EATHE fAEr R HHEEE
FAl B, G T2 FEIHE vA uiEr § e )

FI (R) : “HIETH UE U Sl B BRI AEF-USF % S T W S B 2

SO FYA1 AN H, 9 {30 T fael § @ #eE 3uge 3T o 999 AT

(1) (A) s (R) ZHT =2 F 3fi (R). (A) 1 @8l = 2

(2) (A IR (R)ZA FE E, T (R), (A) F wE == e
(3) (A=A 7, =FET (R) 781 771 2

(4) (A wE A R, = (R) 79 2

[Question ID = 3571][Question Description = Q10_GP_20NOV_S2_SHAAN_Shift2]



1 [Option ID = 13747]
2 [Option ID = 13748]
3 [Option ID = 13749]
4 [Option ID = 13750]

AN wnN -

6) In which of the following researches, attempts are made to establish context-free generalizations?
(1) Phenomenology (2) Grounded theory
(3) Symbolic interactionism (4) Experimental Studies

fretferfia snet & @ e gy gm=iisr i woEr & v e e 8 7

(1)  =ZAT-3va-gara (2)  wraTiE g
(3)  UdiRIeHE SA=ERAER (4) TEFTEHE FEE

[Question ID = 3572][Question Description = Q11_GP_20NOV_S2_SHAAN_Shift2]
1. 1 [Option ID = 13751]
2. 2 [Option ID = 13752]
3. 3 [Option ID = 13753]
4. 4 [Option ID = 13754]

7) ldentify the main features of ‘qualitative research’ from the following :

(A) It is concerned with understanding the phenomena from the participant’s perspective
(B) It assumes that there are social facts with a single objective reality

(C) Researcher becomes immersed in the situation, present or past

(D) Researcher is detached from the study to avoid bias

(E) There is greater flexibility in both the methods and research process

Choose the correct answer from the options given below :

(1) (A), (C) and (E) only (2) (A), (B) and (C) only

(3) (B), (C) and (D) only (4) (C), (D) and (E) only

= & T fErare # @ qonen ey A TEEe )

(A) =z ufagrl = uiusT § "2 % sEey ¥ Teeiead B

(B) 4 I HEAT W1 & WIS 92 el UF a8 30d ¥ 9 T B

(C)  witensdf === =1 geehrfers ufeatet & fomr &t = 2

(D) e geuE ° = & T s S R S A g o 2

(E)  =o# woelt w9 miE-gERaT 291 °§ S=iEd 5 2

4= f2u 7 STt € 0 TF I W =9 Fitan

(1) == (A), (C) #T (E)
(2) A« (A). (B) 3 (C)
(3) === (B). (C) 3 (D)

(4)  #&E (C). (D) 3% (E)

[Question ID = 3573][Question Description = Q12_GP_20NOV_S2_SHAAN_Shift2]
1. 1 [Option ID = 13755]
2. 2 [Option ID = 13756]
3. 3 [Option ID = 13757]
4. 4 [Option ID = 13758]

8) Match List | with List Il :
List | List Il
Methods of research Features emphasized
(A) Experimental (l) Primary and secondary sources tapped with emphasis on internal criticism
(B) ExPost Facto (ll) Status of facts and conditions are ascertained
(C) Descriptive (lll) A variable is manipulated to see its effect on other variable
(D) Historical (IV) The differences are noted and factors causal or otherwise are determined
Choose the correct answer from the options given below :
(1) (A)-(D, (B)-(11), (C)-(lin), (D)-(1V)  (2) (A)-(1), (B)-(1), (C)-(IV), (D)-(ll1)
(3) (A)-(1n), (B)-(IV), (C)-(I), (D)-(1)  (4) (A)-(IV), (B)-(ll1), (C)-(1), (D)-(11)
=T = T T=F_1T =7 o= =0



S S SR

MY TGl =g T

(A) TETTEHF () AT HEE=AT W S od 50 TEmE
Toeiers @t = wE = A

(B) FHAM (I) ufifeafaa va az 1 fFafla gAfvEe #
S 2|

(C) T (II) =80 = o 797 26 o o vk WE w-
o =T 2

(D) TfFeTE (IV) fawe =1 o9W o4 7@ Al awE o=

= fgu e e § O gE 3w =E Fie

(1) (A)-(I). (B)-(IT). (C)-(IIT). (D)-(IV)
(2) (A)-(ID). (B)-(I). (C)-(IV). (D)-(I1II)
(3) (A)-(III). (B)-(IV). (C)-(II). (D)-(I)
(4) (A)-(IV). (B)-(III). (C)-(I). (D)-(IL)

[Question ID = 3574][Question Description = Q13_GP_20NOV_S2_SHAAN_Shift2]
1. 1 [Option ID = 13759]
2. 2 [Option ID = 13760]
3. 3 [Option ID = 13761]
4. 4 [Option ID = 13762]

9) Given below are two statements :

Statement | : Data analysis in research being a technical job, ‘research ethics’ does not matter.
Statement Il : ICT is helpful almost at all stages of research.

In the light of the above statements, Choose the correct answer from the options given below :
(1) Both Statement | and Statement Il are true. (2) Both Statement | and Statement Il are false.
(3) Statement | is true but Statement Il is false. (4) Statement | is false but Statement Il is true.

e 31 %A few w #

97 (D) FIEYE B UEA-Tavelnn UF a1 B % A CSEEE - S SAiE
e (10) FIEGE F T UeAE = § A H A, wEEw w2

3ULRE YA % ST §, 99 B v e § 8 w8 3 1 99 i

(1) = (1) R (1D & 907 &

(2) e (I) 3 (ID) 3T 378 2

(3) = (1) "7 2, =T F9A (1) A9 7

(4) = (1) 5157 7, wfFT w9 (1D #9 2

[Question ID = 3575][Question Description = Q14_GP_20NOV_S2_SHAAN_Shift2]
1. 1 [Option ID = 13763]
2. 2 [Option ID = 13764]
3. 3 [Option ID = 13765]
4. 4 [Option ID = 13766]

10) Given below are two statements : One is labeled as Assertion A and the other is labeled as Reason R.
Assertion (A) : When Null Hypothesis (HO) is rejected, researcher’s hypothesis (H1) is accepted.

Reason (R) : Null Hypothesis (HO) is a chance hypothesis and as such (H1) being true, the researcher’s hypothesis lies in the
domain of acceptability.

In the light of the above statements, Choose the most appropriate answer from the options given below :
(1) Both (A) and (R) are correct and (R) is the correct explanation of (A). (2) Both (A) and (R) are correct but (R) is NOT



the correct explanation of (A).
(3) (A) is correct but (R) is not correct. (4) (A) is not correct but (R) is correct.

Hi= g1 e f5u 0 2 ; uh wfimuT (Assertion A) % &9 ¥ feffiad & af Rl 3u% %r0l (Reason R) %

ATTFIA (A) : o frrelE afmer T (te) figa # 4 S 2 A SEaEeal 6 e
(1) e =t w2
F (R) : T aferem (ve,) T Wi UiseT 23T vE (UE) T B H OEE

SEIFRAT H1 UfsReT S 6 iy g e w2
W FUA F A 9, A B T fawew § 9 w6 3ug I 1 99 Fia

(1) (A) 3 (R) 2 T B 31 (R), (A) Ft w8t =T 2

(2) (A 3R (R) A = 2, @ R). (A) F w8 =mmen 99 2

(3) (A TE 2, A (R) T8 74 ¢

@) (AT TE R, G (R) TR
[Question ID = 3576][Question Description = Q15_GP_20NOV_S2_SHAAN_Shift2]
1 [Option ID = 13767]
2 [Option ID = 13768]

3 [Option ID = 13769]
4 [Option ID = 13770]

AN wnN -

11) Which of the following is an exclusive example of Non-verbal cue that includes the pitch, rate, volume and use of
pauses?

(1) Linear Model of Communication (2) Interactional Model

(3) Non-Verbal Cues (4) Para-Language

famafefiga & 9 =+t suE a1 F== IeEw 2 e smE-sEus (), 2 (2), 9 (aegm)
ST T (wist) =1 wam e 2 7

(1) == e 5iEeE (2) TEEE TEE
(3) TR g (4) T Em

[Question ID = 3577][Question Description = Q16_GP_20NOV_S2_SHAAN_Shift2]
1 [Option ID = 13771]
2 [Option ID = 13772]
3 [Option ID = 13773]
4 [Option ID = 13774]

A WN -

12) Given below are two statements : One is labeled as Assertion A and the other is labeled as Reason R.

Assertion (A) : In the context of communication, the perceptual process creates, semantic-noise also called word-noise.
Reason (R) : The various meanings either cannotative or denotative are sources of semantic noise.

In the light of the above statements, Choose the most appropriate answer from the options given below :

(1) Both (A) and (R) are correct and (R) is the correct explanation of (A).

(2) Both (A) and (R) are correct but (R) is NOT the correct explanation of (A).

(3) (A) is correct but (R) is not correct.

(4) (A) is not correct but (R) is correct.

Hi= 71 #A TGE 0 2 ; wh Ai9HeE (Assertion A) % w9 H foifad # Al HT 34 % #1 (Reaszon R) %
A

HAFA (A) AOEY F Ty § SEURUTeE T Tied W Seed wdl & 9 wfees-uin
(a—f‘:'_"_d T ) Eﬁf.-f-'i 73|

F (R): HIEHF A1 AU SE1 % (G0 Al % GG ieah - 7 2

IYUH FUA AT °, A= 150 0 [ahedl 3§ HeH 39T 390 1 999 HIE0



1) (A) 3t ®) AF T 2 s ®). (A) Fr o e 2
(2)  (A) =W (R) 51 @#1 2, =i (R). (A) Fi @8 =men 46 2
(3) (A FA R, @ (R) 78 7 2
4 (AT A 2, a9 R) TR
[Question ID = 3578][Question Description = Q17_GP_20NOV_S2_SHAAN_Shift2]
1.1

[Option ID = 13775]
2.2

[Option ID = 13776]
3.3

[Option ID = 13777]
4. 4

[Option ID = 13778]

13) Given below are two statements :

Statement | : Appropriate word choice is an essential of effective oral communication.

Statement Il : Facial expression and postures fall under visual communication.

In the light of the above statements, Choose the correct answer from the options given below :
(1) Both Statement | and Statement Il are true. (2) Both Statement | and Statement Il are false.
(3) Statement | is true but Statement Il is false. (4) Statement | is false but Statement Il is true.

Hi 21 #vA fou w2

F4 (I) THTET Hfeh T B TR weg] 1 SA AEYIE B
Fyq (ID) : Hifigs 99 v G grE-amEn % adE 2

I FUF F AT |, A 2 e GEel § § g8 39 #1991 Hie

(1) == (I) ik (I0) 21 aca &
(2) = (D) 3 (II) 31 78T &
(3) w9 (1) Ged &, =i =9 (1) A8 &

(4) =9 (1) A5 2, @i =9 (I10) ae9 &

[Question ID = 3579][Question Description = Q18_GP_20NOV_S2_SHAAN_Shift2]
1. 1 [Option ID = 13779]
2. 2 [Option ID = 13780]
3. 3 [Option ID = 13781]
4. 4 [Option ID = 13782]

14) ldentify the barriers to communication from the list given below :
(A) Time and distance

(B) By-passed instructions

(C) Encoding of thoughts and ideas

(D) Decoding of thoughts and ideas

(E) Logical sequence

Choose the correct answer from the options given below :

(1) (A) and (B) only (2) (B) and (C) only

(3) (C) and (D) only (4) (D) and (E) only
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(D)  #r= wd faw = fage —ag F

(E)  aifF* %9

A= fou 1o fasreul # @ wE 3 #1999 it

(1) =& (A) 3 (B)
(2) A (B) #HR (C)
(3) = (C) #R (D)

(4) == (D) @l (E)

[Question ID = 3580][Question Description = Q19_GP_20NOV_S2_SHAAN_Shift2]
1.1

[Option ID = 13783]
2.2

[Option ID = 13784]
3.3

[Option ID = 13785]
4. 4

[Option ID = 13786]

15) Match List | with List Il :

List | List Il

Types of Communication Main features

(A) Downward Communication (l) Grows primarily to meet organizational/member’s need for communication
(B) Upward Communication (ll) It forms a useful link in decision making for task coordination

(C) Horizontal Communication (lll) Provides management with feedback about current issues and problems
(D) Grapevine Communication (IV) It is the most common communication system in an organization

Choose the correct answer from the options given below :

(1) (A)-(D), (B)-(I1), (C)-(IV), (D)-(11))  (2) (A)-(I1), (B)-(1), (C)-(I1), (D)-(IV)

(3) (A)-(lI, (B)-(1V), (C)-(1), (D)-(II)  (4) (A)-(IV), (B)-(llI), (C)-(I), (D)-(I)

-1 % =y F=-11 =1 foer Fifom
=11 w11
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T FH o T @ e 2
(B) Sufomet Fe (I) FE-T9=77 =q 9= = § ©=F g
HTEAE AT B
(C)  &fast wew (III) =d9m fawat w3 e 6 ot +
wafer T 2
(D)  Tg-ars HEE (IV) TEl i @& 1 9% @d-"EEg G
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I 720 70 faeT B W 91 399 1 999 S

(1) (A)-(Dy. (B)-(II). (C)-(IV), (D)-(I1T)
@) (A)-AD. (B)-1). (C)-(IID), (D)-IV)
(3) (A)-(IID). (B)-(IV). (C)-(I). (D)-(II)
@) (A)-OV), (B)-(III), (C)-(ID). (D)-(I)

[Question ID = 3581][Question Description = Q20_GP_20NOV_S2_SHAAN_Shift2]
1. 1 [Option ID = 13787]
2. 2 [Option ID = 13788]
3. 3 [Option ID = 13789]
4. 4 [Option ID = 13790]

16) If the cost price is 25% of selling price, then what is the profit percentage?
(1) 100 (2) 200



(3) 300 (4) 400
afz Fanea, FFaea #1 25% 2 d @ i s #4137

(1) 100 (2) 200
(3) 300 (4) 400

[Question ID = 3582][Question Description = Q21_GP_20NOV_S2_SHAAN_Shift2]
1. 1 [Option ID = 13791]
2. 2 [Option ID = 13792]
3. 3 [Option ID = 13793]
4. 4 [Option ID = 13794]

17) A seller mixes 26 kg rice of a price of Rs. 20/kg, with 30 kg of different variety rice of a price of Rs. 36/kg. He sells
both the mixed rices at Rs. 30/kg. What will be the profit in percentage?

(1) 5% (2) 10%

(3) 15% (4) 20%

= fagear 26 At 9= 5. 20/FFr & 2 W wliz w1 ogd gm v w30 R = faen 2 e e
30 7. 36 /TR % T W ThE O o1 59 v G g wee w5 30/ % W s 7 59E @
ﬁﬂ[a‘fﬂﬂ W?EIT'I:[?

(1) 5% (2) 10%

(3) 15% (4) 20%

[Question ID = 3583][Question Description = Q22_GP_20NOV_S2_SHAAN_Shift2]
1. 1 [Option ID = 13795]
2. 2 [Option ID = 13796]
3. 3 [Option ID = 13797]
4. 4 [Option ID = 13798]

18) A milk man purchases milk at Rs. X per litre and sells it at Rs. 2X per litre. Still he mixes 2 litres of water with every 6
litre of pure milk. What is his profit percentage?

(1) 33.33 (2) 66.66

(3) 133.33 (4) 166.66

e Fy-foha 5. X/ & @t w39 =g = 5. 20X/ F | W A= 2| 9Eeg 36 98 2 ot o
T 6 THew g 39 # e 391 21| 39 wra it wfawraan = 27

(1) 33.33 (2) 66.66
(3) 133.33 (4) 166.66

[Question ID = 3584][Question Description = Q23_GP_20NOV_S2_SHAAN_Shift2]
1. 1 [Option ID = 13799]
2. 2 [Option ID = 13800]
3. 3 [Option ID = 13801]
4. 4 [Option ID = 13802]

19) The average monthly income of P and Q is Rs. 5,050/-. The average montly income of Q and R is Rs. 6,250/- and that
of P and R is Rs. 5,200. What will be the monthly income of P?

(1) Rs. 3,000/- (2) Rs. 3,500/-

(3) Rs. 4,000/- (4) Rs. 4,500/~

P 3t Q =i 3itgd =1fas 1@ 5050 9 7, Q 31X R i siiga #ifs 319 6250 94 @2 P 3t R i

SATEd AIfw A 5200 94 2| P w1 91fds 7/ e gt ?

(1)  3.000/- &9 (2)  3.500/- T4

(3) 4.000/- v (4)  4,500/- %0

[Question ID = 3585][Question Description = Q24_GP_20NOV_S2_SHAAN_Shift2]
1. 1 [Option ID = 13803]
2. 2 [Option ID = 13804]
3. 3 [Option ID = 13805]
4. 4 [Option ID = 13806]



20) The average of 4 terms is 20, and the first term is 1/3rd of sum of the remaining 3 terms. What will be the value of
first term?

(1) 15 (2) 20

(3) 25 (4) 30

4 Tl W 3 20 & 99T JESl WA 9 3 WAl % g o 1/3 2| ugelt gt o 5E | B e

(1) 15 2y 20
(3) 25 4y 30

[Question ID = 3586][Question Description = Q25_GP_20NOV_S2_SHAAN_Shift2]
1. 1 [Option ID = 13807]
2. 2 [Option ID = 13808]
3. 3 [Option ID = 13809]
4. 4 [Option ID = 13810]

21) According to Naivayikas we ascertain the relation of universal concomitance between x

and v :

(A) We can determine the relation only if we can determine the relation of essential
identity between x and ¥

(B) By perceiving that in all cases the presence of x 1s accompanied by the presence of y

(C) We can determine the relation only if we can determine the relation of cause and
effect between x and v

(D) By not perceiving any instance where the presence of x 1z not accompanied by the
presence of ¥ or vice-versa

Choose the correct answer from the options given below :

(1) (A) and (C) only

(2) (D) and (C) only

(3) (B) and (D) only

(4) (A). (B) and (C) only

FEAIEH F AT 70 x AN y T AEF TR F g g w2

(A)  x 3R y T o SAEE AEEA FET UHEEAT B A a5 W A FH J5d H a9 W
|

(B)  mi ufteyto 7 x Fi wfEata & @y y $1 sufeala w1 sqea #9591 aag

(C) =9 mea-y =i a4l GHivSa % ohd 7 99 89 x 0 y % s HRE-HEv geEry gEvEd #5 o

(D) x Fi ufeafs & =@ y Fi sEefeata oy f et F oy o foatetE = oFwE 9@ e .

YA 7 FH|
Hi f5u 7 faweai § @ WAl I 1 999 i

(1) F=w (A) 3 ()

(2) === (D) #E (C)

(3) A= (B) 3 (D)

(4) == (A). (B) #R (C)
[Question ID = 3587][Question Description = Q26_GP_20NOV_S2_SHAAN_Shift2]
1. 1 [Option ID = 13811]
2. 2 [Option ID = 13812]

3. 3 [Option ID = 13813]
4. 4 [Option ID = 13814]

22) pfatch List I with List II :



ListI

(A)  Vyapti

(B) Linga

(C) Sadhya

(D) Paksa

List IT
(I)  The property being inferred
(IT) Locus of hetu and Sadhya
(IIT) Sign or reason

(IV) Univerezal concomitance

Choose the correct answer from the options given below :

(1)

(2)

(3)
(4)

(A)-(I). (B)-(IID). (C)-(IT). (D)-(IV)
(A)-(I1). (B)-(III). (C)-(I). (D)-(IV)
(A)-(TV). (B)-(IIT). (C)-(I). (D)-(II)
(A)-(IID). (B)-(I). (C)-(IV). (D)(II)

Tt-1 % g F=-11 77 e Fifse

(A)

(B)

(C)

(D)

=11

=7H
T

q&

fr fau o famedi ® © WA SR 9mE Fifa

(1)
(2)
(3)
(4)

(A)-
(A)-
(A)-
(A)-

@. (B)-(III). (C)-(II). (D)-(IV)
(II). (B)-(III), (C)-(I), (D)-IV)
(IV). (B)-(IID). (C)-(T). (D)-(IT)
(1), (B)-). (C)-(IV). D)-II)

g=f-11
(I)  Torad =1 ATAM
(IT) #d T T =1 w0
(III) =od 9= FI0

(IV) =astis wemiaa

[Question ID = 3588][Question Description = Q27_GP_20NOV_S2_SHAAN_Shift2]
1. 1 [Option ID = 13815]
2. 2 [Option ID = 13816]
3. 3 [Option ID = 13817]
4. 4 [Option ID = 13818]

23) (GGiven below are two statements :

Statement I :

Statement II :

According to Claszsical Indian Logic the fallacies (hetvabhasa) are not

errors of inference, but rather hindrances to inference.

A fallacy 1s really a “seeming reason or mark’ (hetvabhasa )., which. if

recognized, would prevent the inferential cognition from arising.

In the light of the above statements. Choose the correct answer from the options given

below :

(1)
(2)

(3)

Both Statement I and Statement II are true.
Both Statement I and Statement IT are false.

Statement I 1s true but Statement II 12 false.



(4) Statement I 1s false but Statement II 1s true.

=9 7 =g fau m

F9H (D) : TR ol T AR EETEE FEE F 3 F6 g ==y
w9 (10) FCATHTE FE: ATAE FEU S9d] Hhd 7 W S AESE w7 9 AEEE w5
=1 It 1 Framo == )

I YT F ATAF °, = @G 0 EEeT § § w39 0 =9 i

(1) = (1) 3 (ID) 391 79 &

(2) = (1) = (1) 21 215e §

(3) =W (I) TA 2, =T o (1) 9T 2
(4) = (1) 398 2, @A #9A (10) @03 2

[Question ID = 3589][Question Description = Q28_GP_20NOV_S2_SHAAN_Shift2]
1. 1 [Option ID = 13819]
2. 2 [Option ID = 13820]
3. 3 [Option ID = 13821]
4. 4 [Option ID = 13822]

24) ‘‘All radically egalitarian societies are societies that do not preserve individual liberties’’.

Which of the following statements is true with reference to the above statement?

(1) ‘““No radically egalitarian societies are societies that preserve individual liberties’’ is obverse of the given statement and
it is logically equivalent.

(2) ‘““No radically egalitarian societies are societies that preserve individual liberties’’ is obverse of the given statement and
it is not logically equivalent.

(3) ‘“‘Some radically egalitarian societies are societies that preserve individual liberties’’ is converse of the given statement
and it is logically equivalent.

(4) “‘Some radically egalitarian societies are not societies that preserve individual liberties’’ is converse of the given
statement and it is logically equivalent.

“Heid: WA TEAEE! HAT UH BH 7 W1 A9k SaaeAdl 1 @Ued 9el ed 517 Sdifeniad 9 8 ¥ S
W1 HUA IHIF b -9 H w27

(1) = ff goa: oudEE T U A 6 e S SaEE Hdsar w1 @ad war vl 2 T weE
1 77 Aiaaida a9 7 S qif ®9 5 THGed 7

(2) F% Hf ToIq: TEAEE GRS UH HETS 6 & S S40h® Sadedl i Sed w2 5 T s
1 77 ufatda amE  #A aifed w9 3 SEEaed

(3) = Hela: AHAEE] QU UH HETS # S A9t el wiad i 5| 8 T e w5 gy gfase
AT & AN A1 B9 ° T

(4 T goia: THGETE TES UH G TE & S SArwE TEaeadl $ 2iad w1 2| 5 T wem w oaw
feet 919 2 3N T 9 H THged 2

[Question ID = 3590][Question Description = Q29_GP_20NOV_S2_SHAAN_Shift2]
1 [Option ID = 13823]
2 [Option ID = 13824]
3 [Option ID = 13825]
4 [Option ID = 13826]

A W N -

25) Two propositions are contradictories if :

(1) One is denial or negation of the other

(2) If they can both be true but cannot both be false

(3) If they have different subject and predicate term and differ from each other in both quality and quantity

(4) If they have the same subject and predicate terms but differ from each other only in quantity but not in quality

21 wfasteET = & 4
(1)  wh, g8t & fgg w2 21 990 26 2
(9 oI =T O = O R =T o aoe TR B Ot



(3) W I 32y AR faem g fim ¥, wa 7 o1 uEn off sre 2

(4) 9T I S2vT SR T wue £ A A et wnn | 91 e E ueg qoEen 9 s 2

[Question ID = 3591][Question Description = Q30_GP_20NOV_S2_SHAAN_Shift2]
1. 1 [Option ID = 13827]
2. 2 [Option ID = 13828]
3. 3 [Option ID = 13829]
4. 4 [Option ID = 13830]

26) What is the binary equivalent of the decimal number 67.625?
(1) 1000010.110 (2) 1000011.110
(3) 1000010.101 (4) 1000011.101

TS BT 67.625 F1 fgamant ouges F B

(1) 1000010 . 110 (2) 1000011.110
(3) 1000010 . 101 (4) 1000011. 101

[Question ID = 3592][Question Description = Q31_GP_20NOV_S2_SHAAN_Shift2]
1.1

[Option ID = 13831]
2.2

[Option ID = 13832]
3.3

[Option ID = 13833]
4. 4

[Option ID = 13834]

27) ldentify the correct order of the following different types of computer components ranked from fastest to slowest in
terms of access time.

(A) RAM

(B) Optical Drive

(C) CPU Cache

(D) SSD

Choose the correct answer from the options given below :

(1) (B), (D), (A), (C) (2) (C), (D), (A), (B)

(3) (A), (B), (C), (D) (4) (C), (A), (D), (B)

UFHT ZH H I ° TEd 52 Ol o 8 #ed Hi, T & SR 5 90 T #E 0 F #@a w0 F geee
|

(A) 19

(B) A== sS4
(C) iz =
(D) TEEEEL

Fr= fau o faeal 8 9 99 3w w1 =99 Fifan

(1) (B). (D). (A). (C)
(2) (C). (D). (A). (B)
(3) (A), (B). (C), (D)
(4) (C). (A). (D), (B)

[Question ID = 3593][Question Description = Q32_GP_20NOV_S2_SHAAN_Shift2]
1. 1 [Option ID = 13835]
2. 2 [Option ID = 13836]
3. 3 [Option ID = 13837]
4. 4 [Option ID = 13838]

28) Given below are two statements :

Statement | : The abbreviation ‘MOOC’ stands for ‘Massive Open Online Courses’.

Statement Il : The abbreviation ‘SWAYAM’ stands for ‘Study Webs of Active-Learning for Young Academic Minds’,
In the light of the above statements, Choose the correct answer from the options given below :

(1) Both Statement | and Statement Il are true. (2) Both Statement | and Statement Il are false.



(3) Statement | is true but Statement Il is false. (4) Statement | is false but Statement Il is true.

e[ (D) : TH. 1. AT =Y, T gaoE 2 - BHa e e s
F (1D : TH TS U AR U, W HAeW B - TS| 958 A% ViAo B 3 UHSE
AREH

IE FUF F T |, 49 2 T e § 9 mE I @ =9 i

(1) == (@) 3% (1) 3 73 7
(2) = (D) 31 (1) 3 =3aeT 2

(3) = (1) §ea &, witea = (1) s8en 2

(4) = (I) s@e 2, | w5 (1) we 2

[Question ID = 3594][Question Description = Q33_GP_20NOV_S2_SHAAN_Shift2]
1. 1 [Option ID = 13839]
2. 2 [Option ID = 13840]
3. 3 [Option ID = 13841]
4. 4 [Option ID = 13842]

29) Which of the following statements are related to the role of ICT in citizen services?
(A) Access to public documents

(B) On-line payments

(C) Better medical education across the country

Choose the correct answer from the options given below :

(1) (A), (B) and (C) (2) (A) and (C) only

(3) (B) and (C) only (4) (A) and (B) only

ffatEs 8 ® FH-FF § FUF A 91 H o = A, 5w | a2 7
(A) ST ZEES T e
(B) #HA-¥1 976

(C) Trml 37 § 7= fafwaeh fe

I f2u 70 AT § ® =9E 39 F1 =999 Fiew

(1)  (A). (B) 3 (C)
(2)  =aEE (A) ®#7(C)
(3)  =ad (B) i (C)

(4)  F&EA (A) 3 (B)

[Question ID = 3595][Question Description = Q34_GP_20NOV_S2_SHAAN_Shift2]
1. 1 [Option ID = 13843]
2. 2 [Option ID = 13844]
3. 3 [Option ID = 13845]
4. 4 [Option ID = 13846]

30) Match List | with List Il :

List I List Il

(Computer Terms) (Description)
(A) HTML (I) Semantic Web



(B) Web 2.0 (ll) Use of Internet to make phone calls

(C) Web 3.0 (lll) Language used to create web pages

(D) VOIP  (IV) Collaborative web

Choose the correct answer from the options given below :

(1) (A)-(I, (B)-(1V), (C)-(1), (D)-(I1)  (2) (A)-(1D), (B)-(1), (C)-(IV), (D)-(II)
(3) (A)-(I1), (B)-(IV), (C)-(), (D)-(lI)  (4) (A)-(IV), (B)-(Il1), (C)-(1), (D)-(11)

-1 % =y =11 1 faee Fif

I T

TR 13 faamm
(A) T=EI.TATE. () == A
(B) =% 2.0 (I) &/ Fed 5 5 fofu S92 1 Tan
(C) 3% 3.0 (IT) 39 = 1 799 5 fom 7 1 78 am
(D) =30 s, (IV) =Hietamrfea 99

Hr= f2u o el 8 | @ 9 R =me i

(1) (A)-(IID). (B)-(AV). (C)-(D. (D)-(1D)
(2)  (A)-aID). (B)-@). (C)-IV). (D)-(ID)
(3)  (A)-dD. (B)-(IV). (C)«(I). (D)-(IIT)
(4) (A)-(TV). (B)-(IIT). (C)-(T), (D)~(IT)

[Question ID = 3596][Question Description = Q35_GP_20NOV_S2_SHAAN_Shift2]
1. 1 [Option ID = 13847]
2. 2 [Option ID = 13848]
3. 3 [Option ID = 13849]
4. 4 [Option ID = 13850]

31) Given below are two statements :

Statement | : Noise Pollution has an adverse impact on hearing ability as well as psychological well being of a person.
Statement Il : Human perception of noise levels is linear.

In the light of the above statements, Choose the correct answer from the options given below :

(1) Both Statement | and Statement Il are true. (2) Both Statement | and Statement Il are false.

(3) Statement | is true but Statement Il is false. (4) Statement | is false but Statement Il is true.

2 21 e faw T # -

w97 (1) : T TS W AAEE TE A D 4Em-9 & WY-TY AEas-ERe W
T 2
w10 : HREE SR, A-T & wE | 1w 2

ITURE YA A A, F= 5 e e § 8 w8 3w == i

(1) =3 (1) 31 (ID) 2 @3 &
(2) = (1) 3 (ID) 3T 378 2
(3)  FA (1) wex 2, wfd wea (1) 1w 2

(4)  FA (I) FEA 2, | B (D) #@eF 2

[Question ID = 3597][Question Description = Q36_GP_20NOV_S2_SHAAN_Shift2]
1. 1 [Option ID = 13851]
2. 2 [Option ID = 13852]
3. 3 [Option ID = 13853]
4. 4 [Option ID = 13854]



32) Which country is in the process of setting up the largest integrated solar-wind energy park of 30 GW capacity?
(1) China (2) India
(3) Australia (4) Saudi Arabia

freAfefEa o @ %9 @1 27 30 T A f auar aet fGva % mey 93 i-ag-Sa-3mE i TeEr

afs d gem 27

o

(1) =H (2) 4ra
(3)  wrwfemn (4) wd-sr

[Question ID = 3598][Question Description = Q37_GP_20NOV_S2_SHAAN_Shift2]
1. 1 [Option ID = 13855]
2. 2 [Option ID = 13856]
3. 3 [Option ID = 13857]
4. 4 [Option ID = 13858]

33) Given below are two statements : One is labeled as Assertion A and the other is labeled as Reason R.
Assertion (A) : There has to be an integrated approach to achieve the targets of Sustainable Development Goals (SDGs).
Reason (R) : Many of the SDGs are interconnected.

In the light of the above statements, Choose the most appropriate answer from the options given below :
(1) Both (A) and (R) are correct and (R) is the correct explanation of (A).

(2) Both (A) and (R) are correct but (R) is NOT the correct explanation of (A).

(3) (A) is correct but (R) is not correct.

(4) (A) is not correct but (R) is correct.

i = e 2w e E e wfieem (Assel‘tionﬂ)%ﬁwﬁ%%ﬁ%?ﬁ?ﬁﬂmﬁm (Reason R) &
®qH

A (A) : Ayl fawm we (wm. 2 ) $iomin g ofimd T s 2
FT (R) : w5 T E1L S, wEEg A

IR A A °, A= B faweat # 1 wes s 39 0 99 i

(1) (A) 3 (R) ZFT Tt B 3117 (R). (A) =t et =T &

(2)  (A) ¥R (R) FA TE E, S (R). (A) F O =men 9 2

(3) (A= R, A (R) 78 76 2

4) (A= FF R, W (R) &8l 2

[Question ID = 3599][Question Description = Q38_GP_20NOV_S2_SHAAN_Shift2]

1.1

[Option ID = 13859]
2.2

[Option ID = 13860]
3.3

[Option ID = 13861]
4. 4

[Option ID = 13862]

34) Given below are two statements : One is labeled as Assertion A and the other is labeled as Reason R.

Assertion (A) : Mankind’s interaction with Earth has led to a highly complex and diverse ecosystem to an increasingly
degraded environment.

Reason (R) : Many of the changes taking place in Earth’s environment are irreversible.

In the light of the above statements, Choose the most appropriate answer from the options given below :
(1) Both (A) and (R) are true and (R) is the correct explanation of (A).

(2) Both (A) and (R) are true but (R) is NOT the correct explanation of (A).

(3) (A) is true but (R) is false.

(4) (A) is false but (R) is true.

H= 77 w9 5 e ;v wi9eE (Assertion A) ¥ ®9 § [@hEd 7 Al ET 3Y #F 7 (Reason R) &+



=W ;

TR (A) © AT AT TFG F A § S A g wifEiaE-aa # s 9

b Y e ~ EY
Qs AT § TEdd w15 7

F (R) : At AE H A TR SHF TET A a

SUU HUAT % ST H, ArE (G0 U {ahedi § H WE 39 1 99 i

(1) (A R (R) A T4 2 3R (R). (A) F 77 =men 2
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[Question ID = 3600][Question Description = Q39_GP_20NOV_S2_SHAAN_Shift2]

1.1

[Option ID = 13863]
2.2

[Option ID = 13864]
3.3

[Option ID = 13865]
4. 4

[Option ID = 13866]

35) What percentage of India’s land is vulnerable to earthquakes?
(1) - 57% (2) - 42%
(3)~37% (4) ~ 28%

(1) ~ 5T% (2) ~42%
(3) ~ 37% 49 ~28%

[Question ID = 3601][Question Description = Q40_GP_20NOV_S2_SHAAN_Shift2]
1. 1 [Option ID = 13867]
2. 2 [Option ID = 13868]
3. 3 [Option ID = 13869]
4. 4 [Option ID = 13870]

36) Which of the following is most effectively promoted by Globalisation among the societies?
(1) Monocultural values (2) Multicultural values
(3) Regionalisation (4) Self centredness
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[Question ID = 3602][Question Description = Q41_GP_20NOV_S2_SHAAN_Shift2]
1. 1 [Option ID = 13871]
2. 2 [Option ID = 13872]
3. 3 [Option ID = 13873]
4. 4 [Option ID = 13874]

37) CBCS stands for
(1) Choice Based Central Schemes (2) Choice Based Credit System
(3) Central Board of Credit Schemes (4) Credit Board of Central Sponsors
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[Question ID = 3603][Question Description = Q42_GP_20NOV_S2_SHAAN_Shift2]
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1 [Option ID = 13875]
2 [Option ID = 13876]
3 [Option ID = 13877]
4 [Option ID = 13878]

38) COVID-19 acronym stands for

(1) Corona Virus Disease 2019

(2) Corona Virus Disease strain 19

(3) Corona Virus Disaster 2019

(4) Corona Virus Disease 2020
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[Question ID = 3604][Question Description = Q43_GP_20NOV_S2_SHAAN_Shift2]

1.1

[Option ID = 13879]

2.2

[Option ID = 13880]

3.3

[Option ID = 13881]

4. 4

[Option ID = 13882]

39) NITI Aayog is
(1) National Institution for Transforming India
(3) National Institute of Technological Innovation (4) National Institute of Transformation and Innovation
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(2) National Institute of Technology Integration

[Question ID = 3605][Question Description = Q44_GP_20NOV_S2_SHAAN_Shift2]
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1 [Option ID = 13883]
2 [Option ID = 13884]
3 [Option ID = 13885]
4 [Option ID = 13886]

40) Match List | with List Il :

List |

List Il

(Days Celebrated) (When)

(A) Earth Day (l) 24 January

(B) UNO Day (Il) 5th June

(C) Environment Day (lll) 24th October
(D) International Day of Education (V) 22nd April
Choose the correct answer from the options given below :



(1) (A)-(1), (B)-(ln), (C)-(I), (D)-(IV)  (2) (A)-(IV), (B)-(1lD), (C)-(), (D)-(1l)
(3) (A)-(I), (B)-(IV), (C)-(1), (D)-(11)) ~ (4) (A)-(IV), (B)-(llN), (C)-(I1), (D)-()
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(1) (A)-(D). (B)-(11D), (C)-(II). (D)-(IV)

(2) (A)-(IV), (B)-(I1D), (C)-(I), (D)-(II)

(3) (A)-(1D), (B)-(IV), (C)-(I), (D)-(11I)

(4) (A)-(IV). (B)-(ITI). (C)-(II). (D)-(T)
[Question ID = 3606][Question Description = Q45_GP_20NOV_S2_SHAAN_Shift2]
1. 1 [Option ID = 13887]
2. 2 [Option ID = 13888]

3. 3 [Option ID = 13889]
4. 4 [Option ID = 13890]






